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Topic:- Grad_Nutrition and Health

1) The amount of additional energy proposed in pregnancy by ICMR is-/ICMR §RT THfaxT #
ywdTfad Sifafad Sl &1 A fra &:

1. 300 calorie/300 PRt
2. 1000 calorie/1000 sy
3. 100 calorie/100 ey

4. 800 calorie/800 bRt

Correct Answer :-

« 300 calorie/300 Hat

2) Kwashiorkor is a deficiency of:/ SIRAR®R I gidl &:
1. Lack of Protein/ UIdH &1 &I I

2. Lack of Protein & Fat/ Wi d 941 &I HHI I

3. Lack of carbohydrate/®agIESe & HH I

4. Lack of Protein and carbohydrate/l;ﬁaq d W@E P HH T

Correct Answer :-

e Lack of Protein/ U & HH g

3) What is the amount of blood sugar in a normal person is:/T® IH iy ® Yo AHT B AT

foa gt 2:
1. 50-55 Mg./100 ml./50-55 f&.311./100 f&.<f.

2. 40-60 Mg./100 ml./40-60 f1.9m./100 fi7. .



3. 150-180 Mg./100 ml./150-180 f1.91m./100 fi.am.

4. 82-120 Mg./100 MI./80-120 f&.311./100 f1.<.

Correct Answer :-

« 82-120 Mg./100 MI./80-120 f&1.311./100 f&1. .

4) Clinical name of peritusis is:/ tl?'g'ﬁmﬁl fafeeia HTH%:
1. Dengue/@l

2. Diphtheria/fSwriiRar

3. Hooping cough/aTelt it

4. Influenza/SSJE~SIT

Correct Answer :-

« Hooping cough/dhTei! Wit

5) In which state of India stable regional office of UNICEF is:/J-i% (UNICEF) &T &g srafay
YRA & I A U & fRa 3:

1. Punjab/UsTTd

2. TamiInadu/ﬁfﬁ?Fﬂ‘g’
3. Chennai/dds

4. Delhi/féeett

Correct Answer :-

« Delhi/faeett

6) Family planning centers have been set up in:/TRRaR fAAaeH F= wifq f$a 1 2:
1. Every city/m TRHA

2. BEvery viIIage/EI?fW DI

3. Both of the above/ SURIS GHI

4. None of these/3TH O P gl

Correct Answer :-

e Both of the above/ RERCSEAGI]

7) Bacteria of Hooping Cough is:/&Tell @iwt TRT 7T i 3:
1. Bordetella pertussis/STScal URg R
2. Varicella/aR&ar



3. Vibrio Cholera/ﬁ@Tﬁ AL
4. Clostridium Telani/Re fegH feet

Correct Answer :-

« Bordetella pertussis/aTs caT TR

8) Objective of ICDS is:/3ME. M. E.qq. FTILWR :

1. Development of the mother's ability to take care of the child herself./HT @1 &HdT &1 [dHN, IEGEEH 131'5{[ Gl
T/ W IR G

2. Promote family planning methods/IRAR A & Ul & deldl Sl
3. Make sure to women empowerment/dfgdll TRIfaddbR0r YATLad BT
4. To linking adolescent girls to employment activities[ﬁﬂﬁw B ISR AT ¥ o Sl

Correct Answer :-

« Development of the mother's ability to take care of the child herself./d &1 &Hd &1 fdw™, fST¥ a8 Ry
D CEUTA W& R b

9) The monosaccharides sugar is- /'FﬁT-ﬁ'\ﬁm HT %:
1. Starch/l?lif

2. MaltoseFﬂ@G[

3. Lactose/ﬁaiﬁ\_rf

4. Glucose/w

Correct Answer :-

+ Glucose/TqH IS

10) Which disease is controlled by Bevek vaccine?/ dla® IRiH f59 I+t e wa %7
1. T.B./dUfe®H

2. Hepatitis/%ﬁ?ﬁ%ﬂ

3. Polio/diferal

4, ChoIera/%TrlT

Correct Answer :-

« Hepatitis/gue3ied

11) Which mineral deficiency is rickets?/R&eq e fHiar frg @fae @1 w1t @ gkt 82

1. Iron/3TARA



2. Calciumlm
3. Sodium/SfeaH
4, Potassium/théﬁrqt{

Correct Answer :-

« Calcium/SfRrEH

12) Which disease is caused by H.1.V. virus:/@.éﬂé.a’f. ﬁ'qTf{[ J S AT I[T giar %:
1. AIDS/TSE

2. Marasmus/@T I

3. Aneamia/TIEaT

4. None of these/3TH I P gl

Correct Answer :-

« AIDS/USH

13) Vitamin—A deficiency disease is/ﬁE'IﬁFI—A H PN A ﬁﬁ qIeT T DI AT %:
1. Night inndness/TE?f%ﬁ
2. Xerosis cornea/SIRIRY Hifar

3. Keratomalacia/feHafRmr
4. All of the above/IWRiad Tt

Correct Answer :-

« All of the above/SWRIad g+t

14) In the condition of diarrhea which nutrient get less in body:/ SifaarR ot fRufa d I8k & frg
I B1 BT g AT R

1. Water/STdl &1
2. Potassium/JIcRIaH &t

3. Sodium/JfSTH Bt
4. All of the above/JURIad g4t

Correct Answer :-

« All of the above/SWRIad g+t

15) Beri- Beri disease in human is due to:/'FIﬂ'Eﬁ T a8-a3t T g &
1. Deficiency of vitamin—A/fdeii—-A & HH 9



2. Deficiency of Vitamin—C/ﬁEﬂﬁ:f—C P HH T
3. Deficiency of Vitamin-B/fdeTfa-B &I &t 4
4. None of these/stl'ﬁf I ﬁ'sc T8l

Correct Answer :-

« Deficiency of Vitamin-B/fAcif-B &1 &I 9§

16) Establishment of Indian Red Cross Society was:/ {34 Y8 %11 TIE & RITGAT $ B TS
At

1. In 1945/1945 H
2.1In 1925/1925 H
3. In 1920/1920 #

4. In 1935/1935 H

Correct Answer :-

e In1920/1920 H

17) Weight of a healthy infant at the age of one year is:/T® W I #1 a5+ TP ¥ BT 3/ W®
foam g 3:

1. Twice the weight of birth/ﬁﬂ% A G AT
2. Tripled by birth weight/S/ & ao ¥ foR[AT

3. Four times extra of birth weight/STH CAC KK Eﬁﬂ:ﬂ
4. None of these/ E:I'a[ I ﬁé gl

Correct Answer :-
« Tripled by birth weight/SI= & ao< ¥ AT

18) Who first made the vaccine of chicken pox?/3de® &1 I HAUYH fFa Im4T UT?
1. Jennar/@T-R i

2. FIeming/t@ﬁﬂ q

3. Madam Query/HSH ot

4. None of these/3TH I P gl

Correct Answer :-

e Jennar/SFR 9

19) Which of the following disease is called 'lock jaw'?/ 9 # ¥ fFd I F I SweT Wt Fed 22



1. Diphtheria[%q'?ﬂﬁtﬂ

2. Hooping Cough/ﬂﬂ?ﬂ@lﬁ
3. PoIio[Cm%I?IIT

4. Tetanus/fccd

Correct Answer :-

e Tetanus/feeTg

20) Which changes are happen in adolescence?/fFIRTa®T § H19 § ufad= gd &:
1. Emotional/HIdATHD

2. Mental/AHRi®

3. Physical/RRIRe®

4. All of the above/SURIad T4

Correct Answer :-

« All of the above/SWRIad HT

21) Which of the following disease occurs due to malnutrition:/ 5% & ¥ S 11 A7 HUITUT gRT

g 3:

1. Aneamia/Yadleddl
2. Jaundice/diferan

3. Typhoid/clWIgS
4, ChoIera/%TrlT
Correct Answer :-
e Aneamia/Yddleddl

22) Anemia is the state of which stage which is most viewed in girls:/lFﬁﬁl'ClT &9 ot FY
aifeere # a9 ifte T@T ST e :

1. Infancy/Q=TaTaedT
2. Childhood/dTedTaxT
3. Adolescence/fHRIRTaRIT

4. Old age/qIARIT

Correct Answer :-

« Adolescence/fHRIRTaRIT



23) Diphtheria diseases is related to:/ feeiifear 31 @1 Y9y fra %:
1. Brain/ﬂﬁﬁﬁ I

2. Lungs/Bw ! 4

3. Liver/d%d ¥

4. Throat/®u3 4

Correct Answer :-

« Throat/®Us I

24) is started on 2nd October 1994./ 2 3(dgax 1994 &I = g1 UT:
1. Pulse polio campaign/acd Tiferar 1M

2. Family planning programme/tlﬁ?:l'l'\’ faIoH srieH

3. Vaccination programme/cleTanul 31

4. None of these/3TH O P gl

Correct Answer :-
« Pulse polio campaign/acd Tiferar 31faH

25) Developing the highest job qualification by imparting training to the disrupted person is
called: /ST safdTal & uikieror IwR Swaay H1iiS) Tvgdr &1 fIsTd HIA1 Feard 8:

1. Rehabilitation/g-Tam

2. Inhibition/fFRIeH

3. Social Rehabilitation/ImHT Gard

4. Psychological Rehabilitation/A-Id® J-aT

Correct Answer :-

« Rehabilitation/gafa

26) A good source of protein in children is:/STa®] & U $1 W T HaH 3=DT T d AT 8:
1. Green vegetables/g< Tfesrat

2. Fruits/38d Bd

3. Milk/g¥

4. Cereals/3N

Correct Answer :-

. Milk/gY



27) Qualities of first milk of mother is: /HTdl & WYH g4 & &7 0T gIdl &:
1. Excess of vitamin—A/ﬁEﬂﬁ:r—A &I 3BT

2. Immunity/ﬁ"ﬁ J FIE%T CARIES

3. Both of the above/JURIa Gt

4. None of these/3TH I P gl

Correct Answer :-

« Both of the above/IWRIgd Gl

28) Main reason of malnutrition in India is:/ HRd & g?thtrur DT B RO f
1. IIIiteracy/fo?r&ﬂ

2. Poverty/TRIal!

3. Both of the above/SURId Gl

4. None of these/3-H ¥ ®Is -Ta!

Correct Answer :-

« Both of the above/IURIad aHl

29) How many days is the menstrual cycle of normal woman's: /HHI Tl &1 iy o T fraa

fei w1 g &

1. 20 days/20 f&=1

2. 25 days/25 fa1

3. 28 days/28 f

4. 32 days/32 fad
Correct Answer :-
« 28 days/28 fa71

30) CANCELLED

In the process of conceive women should not be: /THIUE & SR Tt &) w1 AEY Y871 A1fea:
1. Distracted/fa=ferd

2. Worried/fdifdd

3. Stress free/dIdHad

4, All of these/maﬁ it

Correct Answer :-

 Stress free/d-dYad



31) Which disease is caused by excess of calcium in children: /9= § HfRIH F1 Sifwdar d S

1T gl %:

1. Rickets/Rdcd

2. Hypocalcemia/ T8l feIferaT
3. Hypercalcemia/gT3UR Sicferan
4. None of these/3TH I B gl

Correct Answer :-

« Hypercalcemia/BI8UR hicIfea

32) __ reduces the frequency of Child's diarrhea./_____ &=l # g% &1 31gfy HY 9 HIa1 8
1. Zinc/fSi®

2. Iron/3TARA

3. Protein/ﬁﬁ?

4, Calciumlm

Correct Answer :-
. Zinc/iSid
33) The carrier of plague bacteria is:llﬂ"T & Txﬂil'l'l{[ HT digh %:

1. Rat/<[gT
2. Cock/TTM

3. Dog/&l
4. Goat/d®<t

Correct Answer :-

* Rat/Z&T

34) Which is helpful in digestion of protein:/ f9 # & &1 WidH & UrRH & Wgd® T~I5H &
1. Trypsin/fef@r

2. Taayalin/cHafe

3. Amylose/THATITS

4. None of these/3TH O P gl

Correct Answer :-

o Trypsin/iAfR=



35) Which disease is due to lung and respiratory tract infection?/ bW 3R Tard Teil & HHHU F
PHRU P A R g 8

1. Pneumonia/fAa=ar

2. Jaundice/diferan

3. Cholera/gsTl

4. None of these/3TH I B gl

Correct Answer :-

« Pneumonia/Faf==r

36) Advantage of breast feeding for infant is: /U= & fRIY] H1 811 1€T WIS FT 3:
1. Mother's milk is digestible/HTdT &T g U= 81T §

2. Low chance of infection disease in infant/fRIg] 1 TshTH® W BIH B FUIG HH

3. Both of the above/milﬂ Ml

4. None of these/3TH ¥ ®13 gl

Correct Answer :-

« Both of the above/IURIad GHl

37) The implementation of a destitute child pregnant is done by whom: /fA=if8a CIGUE YISHET BT
foraTaa= fora & g 5 < @

1. District Hospital/fSTeT feforcmerd gRT

2. District women and child development ofﬁcers[ﬁrl?ﬂ II%FITQH 1 fawr SIfIBRI gRI
3. District panchayat/RoTel amd SOHRT gRT

4. None of these/3TH J ®13 Tal

Correct Answer :-
« District women and child development officers/fSTalT Afg el Td a1 faw ™ S RT gRT
38) M.M.R. vaccine is not related to:/ TH.UH.3R. IR frd 317 A Jafa 48 8:

1. Polio/giferay
2. Measales/lﬂ\_rlFﬂ

3. Chicken pox/d¥RT

4, Ear headWUfﬁv_{

Correct Answer :-



39) CANCELLED

The weight of pregnant women in the third month of pregnancy is: /'ﬂ‘#hﬂﬁ F TR HIg H efaet
W & ao § frat gfe @t 2

1. 1500 gm/week/1500 UTH / 9«8
2. 1000 gm/week/1000 ¥ / Itdlg
3. 500 gm/week/500 UTH / 9«8

4. 250 gm/week/250 UH / I8

Correct Answer :-

» 500 gm/week/500 UH / Tkl

40) How much screening is required for pregnant women during pregnancy?/ YR & a?lT-I
mifadt afger &t fea s smaza® 82

1. Five/ura
2. Four/dR
3. Three/dH

4. Two/a

Correct Answer :-

e Four/dR

41) The nutrient that produces hormones in the body is:/ TR & gRAT &1 fAaior $34 9 ve
T DI T &

1. Protein/l;ﬁ'c‘ﬁ
2. Vitamin/faeta
3. Fat/adrn

4. Minerals/Sfst

Correct Answer :-

e Protein/diéH

42) Which of the following disease occurs due to deficiency in iron:/ A F s I/ ﬁ? aqur
Pt HH | g &

1. Beri-Beri/a¥-a
2. Scurvy/Elo_cff



3. Jaundice/ﬁ’ﬁ%lm

4. Aneamia/adTeddl

Correct Answer :-

e Aneamia/adleUdl

43) In the pulse polio campaign which age of group child is given a durg dose:/ UcH giferat
SR ® 5 oy ot & g= &Y gar &t a8

1.0to 5year/0 ¥ 5 a¥ a&
2. 5t0 10 year/5 9 10 9¥ d&®
3.2to 3 year/2 ¥ 3 9% d%

4, 5to6year/53?[66|'5fa$

Correct Answer :-

« 0to5year/0 ¥ 53¥ d®

44) Symptoms of malnutrition is: /@ﬁw & A& %:

1. Short heightedf%’l'HTCH

2. Slimmer body/gadd—
3. Under-weight/&®d dusd

4. All of these/IURIad Tt

Correct Answer :-

o All of these/SWRIgd Tt

45) The polio virus affects the child's most- / T} I BT IR TS & ford o &1
waifire yuTfad e a:

1. Nervous system/d 3T a3
2. Digestive system/Ura- oo
3. Respiratory system/Xdd dF

4. Circulatory system/3cToi ool

Correct Answer :-

« Nervous system/d1 d

46) Which is the water soluble vitamin:/ 5% & & ®19 Uit & gem=fta faerf= 8:
1. Vitamin-B2//fdeii—-B2



2. Vitamin-B6/faeTi—-B6
3. Thiamine/Ram=
4, All of the above/ IRIgd g+t

Correct Answer :-

o All of the above/ IR g

47) Weight increase in pregnant women during 20 weeks at the beginning of pregnancy:/

TUTGRT & ARY T 20 FwTg & R Mifadt afgen & oivd ao= & fpa- g 8t 8:
1. 3.8 kg/3.8 ..
2. 4.2 kg/4.2 T
3.2.5 kg/2.5 ..

4. 5.0 kg/5.0 fob. 3.

Correct Answer :-

« 2.5 kg/2.5 fa.m.

48) CANCELLED

How much calcium is required daily for lactating mother?/ U+ YA ardt Afgar &1 ufafes
e SfRry a1 smaza® 82

1. 500 mg/500 .31
2. 300 mg/300 .7
3. 100 mg/100 .31

4. 1000 mg/1000 .31

Correct Answer :-

« 500 mg/500 &

49) Which vitamin is obtained from sunlight:/ 4 & W1 & B9 91 faerf® ure giar 2:
1. Vitamin-A/facii=-A
2. Vitamin-B/fde1f®=-B
3. Vitamin—C/fde1f=-C
4. Vitamin-D/fdeI®=-D

Correct Answer :-

« Vitamin-D/fdeif=-D



50) Itis necessary to give infant after 6 months-/6 HIg & JT¢ ﬁT-‘{[ 3l Gl
SATIAP 3:

1. Supplementary food/qRe& 3R
2. Complete food[lIUf 3IER

3. Solid food/31 3TER

4. None of these/3TH ¥ ®13 Tal

Correct Answer :-

» Supplementary food/JRe 3IER

51) In which city is the secretariat of WHO?/ & 28T & WHO &1 IfRaed @R-r%:
1. London/dc

2. New—yorklw

3. Delhi/feeatt

4. Genava/Si=al

Correct Answer :-

« Genava/SHal

52) Dwarfism is the deficiency of:/SHTU 5 & & fraat w4t 4 gian &:
1. Iodine/3MASH

2. Calcium/& o™

3. Zinc/STdl

4. Magnesium/HafRmaH

Correct Answer :-

« Todine/3MEH

53) Among the following which is the blood clotting vitamin:/ ru & A P19 399 BT YaPT FTHA |
S fderftq &:

1. Vitamin—E/faeTfi+-£
2. Vitamin—K/faeTfi=—K
3. Vitamin-D/fd<eif@=-D
4. Vitamin—-A/fdeTfi=-A
Correct Answer :-

o Vitamin—K/fdeTfa-K



54) Which is helpful in the development of bones?/ A e= gesu & o & f%I'II Heldd %?
1. Phosphorus[q'TIW'ﬂW

2. Iodine/&@@ﬂq

3. Sodium/SIfeaH

4, Potassium/dIe RIgH

Correct Answer :-

e Phosphorus/BRBRY

55) For breast feeding mother requires daily protein in the diet: /<I-UTH $I4 dTcit AT $ AR |
gfafe e ot fpa-t urn smazas gkt 8:

1. 100 gm/100 9H
2. 90 gm/90 UH
3.70 gm/70 UH

4. 50 gm/50 U™

Correct Answer :-
e 70 gm/70 UIH

Topic:- Grad_General Knowledge and Logical Ability

1) Timmy walked 10 miles from point P towards the East. He then took right
turn and walked 5 miles and taking another right turn walked again for
another 5 miles. How far is he from starting point of his journey?/ ﬁwﬂﬁg P

¥ qd fezm § 10 Wia 3t gt a9 Fwar 31 98 SrfY 3R gsa1 @ 8k 5 Wia 3t gt a9 Fear 2 9,
fpY @ il ok geoR 5 Hia it gt a9 Fa1 31 34 I8 AU URTRIS foig A fopasit gt R @2

1. 8 km/ Tt
2. 4 km/ TopHT

3. 5V2 kmy i
4. 792 ymy freft

Correct Answer :-

. 52y fprh

2) In which year was the Right to Property removed from the Fundamental

Rights? / f&d af A dufy &1 sifter Wifers siftery &) arfere A ger fear ware



1.1976
2.1977
3.1978

4. 1979

Correct Answer :-

« 1978

4. 10

Correct Answer :-
« 9

4) Which of the following age-group from poor families is the Ministry of
Rural Development focusing on in the Deen Dayal Upadhyaya Grameen

Kaushalya Yojana? / <9 guTel SUTAT ITHIUT HI1edT A1 & Sidiid ArHor faera
waray, e | 1T ufarR) & S99 ot W T ST 82

1.15-30
2.15-35
3.18-30

4.18-34

Correct Answer :-

« 15-35

5) Fertilization in mammals occurs in-/ ATl § e ﬁ?ﬂ %—
1. Ovary/ HEHIy H

2. Fallopian tube/ Balug AfdeT o



3. Uterus/ TTHIRA H
4. None of the above/ SURIad aﬂ's‘ '_ﬁﬁ

Correct Answer :-

« Fallopian tube/ Barug AT |

6) When was the Department of Social Justice and Empowerment created? /

graTioTe = 3R sif¥rerfear faur wa wrfa foear war?
1. 2010
2. 2011
3.2012
4.2013

Correct Answer :-

« 2012

7) The Pradhan Mantri Adarsh Gram Yojana comes under the: / YT W emesf
| Ao e | forad siarta smar 82

1. Ministry of Panchayati Raj / GdTdd! sl HATCH
2. Ministry of Rural Development / JTHIUN fde 9 HATed
3. Ministry of Social Justice and Empowerment / GrTRTe =g 3R HfABTRGT HaTerd

4. Ministry of Finance / fa< e

Correct Answer :-

. Ministry of Social Justice and Empowerment / THINSTS 01 3R fUHBTRAT Hared
8) The cheapest modems can transmit:/ I 9T AISH T=1id HdT %
1. 1,200 bits per second / 1,200 fecq IR ¥&Hs

2. 2,400 bits per second / 2,400 focd R AHe

3. 4,800 bits per second / 4,800 fﬁw R IGS

4. 300 bits per second / 300 ]%EF R Y s

Correct Answer :-

« 300 bits per second / 300 facq IR IAHs



9) Kayakalp is an initiative of - / ®ATH AU # A TP uga &2
1. Ministry of Drinking Water and Sanitation / UOSTd 3R W3l HATad
2. Ministry of Health and Family Welfare / TR 3R URAR STl HAad

3. Ministry of Drinking Water and Sanitation and Ministry of Health and Family Welfare
jointly / STl 3R Ta=3dT HATCT Td W 3R GRIR STl Had

4. None of these /Eﬁ@fﬁ'ﬁﬂ:@'

Correct Answer :-

« Ministry of Health and Family Welfare / W% 3R URAR &0l HATeR

10) According to the Child Marriage Act, 2006, a “child” is a person who has
not completed years of age if he is a male. / 919 faarg srff-am,
2006 & TR GEUI H “qTard” &1 Y § a8 safad T 39 T RIS g @
|

1. 18

2.19
3.20

4. 21

Correct Answer :-

11) Which of the following diagram shows the correct relation among Tennis

Player, Cricket Player and Student?/fFfaf@d & & 9-a1 emw, 2f
faard), fphe fRaarst sk faendf & w9 gy &1 gzifar 82

&

@

, QD
@

Correct Answer :-



12) Insulin, a hormone is chemically a:/ 3'\31%7'[ BT ITAfS U F ga1 82
1. Fat/ 94T

2. Steroid/ @@3@'
3. Protein/q él:l

4. Carbohydrate/ mﬁ?{d

Correct Answer :-

e Protein/ Eh?ﬂ:f

13) Ram can do a work in 20 days. Ram and Shyam together can do the same
work in 15 days. If they are paid Rs.400 for that work, what is the share of
Shyam (in Rs.)./ IW T& &TH & 20 feAt # [T H= Gaar 81 39 3R a9 U 1Y Frass
I BT FI 15 fel & 1 = 9P 31 3l 3 39 $19 & fw %.400 Urd B, o Tamq &1 fHa-i
Torg et (v, ®)2

1. 100
2. 200
3.150

4. 50

Correct Answer :-

« 100

14) Vitamin A, D & C are respectively called as ?/faeffmaA, pac & HH:

TS A g |

AN

1. Retinol, Ascorbic Acid, Calciferol /iléqlﬂ,Q@Ildd? W,&’)I

I e IV AN

R
2. Retinol, Calciferol, Ascorbic Acid /ﬁﬂ, OPIQ'%ICNICL Db KT
3. Pyridoxin, Calciferol, Ascorbic Acid/ W,W Qﬁﬁﬁ? KT
4. Retinol, Calciferol, Pyridoxin/ ﬁﬂ, ﬁw, yraisifea

Correct Answer :-

e Retinol, Calciferol, Ascorbic Acid/ 3 é:ila, Wﬁ, Qﬁﬂﬁ? KT



Which statement about IPv6 addresses are true? / IPv6 Ud & IR | o 1

FYT HEI 72
1. Leading zeros are required / 3{Uoft R SAYh g

2. Two colons (::) are used to separate fields / & g8l (: :) Wics P el HRA & [T
UGN fbar ST B

3. Both of the above / SWRIgd gl
4. None of these/sqff I ﬁé :@

Correct Answer :-

e None of these/sqff I ﬁ'sc ol

16) DIRECTIONS: Choose the missing terms out of the given alternatives./

fordr: o e faedl & @ o el & 3 3 |
W__ uww ___ W ___ Xuw X w

1. Xuwuwx

2. XWUUXW

3. XXxuwwu

4. XXwwuu

Correct Answer :-

17) The 'stones' formed in human kidney consist mostly of:/HTd gdPh H gt forey uerd & g+t
1. Sodium acetate/FfSTH THICT

2. Magnesium sulphate/ﬁm'qq TJethe

3. Calcium/& [aH

4. Calcium oxalate/HTeaTH MBI

Correct Answer :-

e Calcium oxalate/BTRIIH B

18) Myntra.com is an example of:/myntra.com Td 3qlgrUl &
1. Single-user database application/THd-39aNTHdl SeTad
2. Multiuser database application/a‘g’—Bﬂ?ﬂTﬁﬂ-ﬁ ST



3. E-commerce/g—ﬁﬂﬁ
4. Data mining/STcl AT

Correct Answer :-

« E-commerce/3-B1Hd

19) Pointing to a girl,Prabhash said, “She is the daughter of my grandfather’s
only daughter-in-law”. How is that girl related to Prabhash? /& @S&! @ 3R

SIRT Hd §T THTY A HgT ‘98 A gTeroll It THHTT TaY It Tl 81’ 98 a1,y I fry
TPR TR 82

1. Daughter-in-law/dg
2. Mother-in-law/d9

3. Sister/dgd
4. Aunt/ 3fict

Correct Answer :-

« Sister/dgd

20) According to the Prevention of Women from Domestic Violence Act,
2005, who appoints the ‘Protection Officer’? / T fgar & afgar dweor srfufam,
2005 & AR FR&T AFUBRY F} FFgfaa H17 Fwar g2

1. Union Government / HG WBR
2. State Government /g JRDHR

3. President/ﬂgtﬁ
4. None of these /Eﬁ@f&ﬁ'ﬁ‘ﬁ

Correct Answer :-
e State Government /3T IhR

21) What is the maximum term of office for the members of the National

Commission for Women? / w@utﬂ%?n m%mﬁﬂiﬁﬁmﬁw %?
1. 2 years / 2 Y
2.3 years/36|'5f
3. 4years/4a'5f

4.5 years/S?ﬂf

Correct Answer :-



. 3years/3a'5f

22) Persons in asbestos factories are affected by air pollution. The most affected part of their body

is the:/d TNT WY T ! rad! § 1 $Xd § I a1g UGWUT & TUTFId 8id € , 377 IR BT

1. Eye/&ﬂ@
2. Throat/TTcll
3. Lungsfa?%'[

4. Skin/cddl

Correct Answer :-

. Lungsm

23) By default, on which pages headers and footers are printed? / fswiee ©U
¥, 3¢ 3R X I A U9 W fiie g 82

1. On urgent page/ e U9 IR
2. 0n every page/ Td® O IR

3. On first page/ Ugd US R
4. None of these /s’:l'ff q aﬂé E

Correct Answer :-

« On every page/ T U IR

24) According to the Dowry Prohibition (Maintenance of Lists of Presents to
the Bride and Bridegroom) Act, 1985 which of the following information is

required to be kept? / &aW Y (Gee 3R gea B UKgd P &I YA BT I@IW4)
SfUfd, 1985 & AR FH § T HIRI TESRT IWT AT ATTRAD 82

1. Value of present / SUgR &1 HcI
2. Brief description of the present / SUgR &1 Tl faavur

3. Relation of the person giving the present to the bride or bridegroom /WWW%
1Y IUSR & dTel BT

4. All of these / IuRIad I

Correct Answer :-

« All of these / 3uRlad TH



25) DIRECTIONS: Complete the series by choosing right figure from the given
choices./ fgar: fau T faswedl & & A6t fawey &1 a9+ T Avi B T B

‘é [}[gﬂ‘

(a) )] (c) (d)

1.ij
z.[{j
iE
IE

Correct Answer :-

a

26) In 28 day of menstrual cycle, ovulation occurson the-/HJ® ¥ 28 fe & SvsTR™@ TH |
SUSTH BT 8-

1. 15 day/ TH &

2. 101 day/ UG fA

3. 141 day/ dicgd fA
4. 28" day/ \}@gﬂé fa

Correct Answer :-

. 14" day/ diegd faa

27) Which of the answer figure is exactly the mirror image of the given

figure when the mirror is held at PQ? / g & & ®17 Wt 3w amepfa & it wy snpfar
Ft g gdur anepfar gt o9 guur &1 PQ WR 3T 4T 82



Question Figure: /g9l 3mepfa:

Answer Figures: / 3¢ar? s idar

AV V|V

(1) 2" (3 (4)

1.1
2.2
3.3

4.4

Correct Answer :-
« 3

28) In which year was the National Commission for Women set up? / ?T@'Cr

wfger amarT S99 af wurfia fear mare
1. 1990
2.1991
3.1992
4.1993

Correct Answer :-

« 1992

29) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fiq=r: fFafafad vy & usars e (2) & ®=H
TR TIHI DI AT | ST 2

989 65 x515_4
34 869 207

1. 840
2.910
3. 968
4. 780

Correct Answer :-

« 968



30) Brunner‘s glands are found in-/ﬂ\:l'lﬁ g urd} wrelt 3:
1. Oesophagus/ﬂm:l?ﬁ

2. Stomach/3{HIRIT

3. Duodenumﬂ]_EfUﬁ

4, Rectum/ HAARKY

Correct Answer :-

. Duodenumﬂ]_EfUﬁ

31) DIRECTIONS: In question below are given two statements followed by two
conclusion numbered I and II. You have to take the two given statements to
be true even if they seem to be at variance with the commonly known facts
and then decide which of the given conclusions logically follows from the
two given statements, disregarding commonly known facts./ﬁﬁ'!ﬂ: ﬁ%ﬁqw
R ® & HYF 3R ITP 91¢ &l Frepd 1 3R 11 fau 1w €1 snuen) fu e i Ul &) 9w
AT € YA 81 3 Jdgra aat S = uefta g 81 auft forseut o1 ufew fvr aa Fifoe fo
fou e fAewuf A @ 1 -1 feed fow 1T Hy= &1 ThEITd FU R TR FRAT 8, TR
TagTd 9 O W gl

Statements:/YH:

All rivers are mountains/ﬁﬂ-ﬁ qﬁ'ﬁ,ﬂ?l%’%

Some rivers are deserts/ﬁﬂﬁ?ﬁ, TERA &

Conclusions: /fsp:

I. Some mountains are desertslwm,mlﬁ%

II. Some deserts are not mountains /P AR, UEET-I'&‘T%

1. If only conclusion I follows /af¢ &ad fAny 1 &IT-ETUTW%

2. If only conclusion II foIIows/U%WﬁEb_ﬁf II GFETUTW%

3. If neither conclusion I nor II follows /afg = df fFs#s 1 7 g1 11 &WW%

4. If both conclusion I and II follow /afg fAsFs 1 3R 11 ST R0 H%d &

Correct Answer :-

« If only conclusion I follows /3f¢ Had fSHY 1 3IIR0 Hl §

32) In MS-Access to open an existing database press:/MS-Access H 'lﬁFET
Sered @A & fo:

1. CTRL+N



2. CTRL+O
3. ALT+F4

4, CTRL+D

Correct Answer :-

« CTRL+O

33) The average weight of 8 persons increases by 2.5 kg, when one person
whose weight is 65 kg is replaced by a nhew person. What is the weight of the

new person? /8 AfGddl &1 3 HR 2.5 fFuT T 9¢ &IdT 8, 519 65 f5u1 & v aafad &
I W TP 471 AT 3T ST g | 73 Safad &1 HIR T 82

1. 78 kg/ 78 fo3n
2. 82 kg/ 82 foun
3. 85 kg/ 85 f&ur
4. 80 kg/ 80 f&ur

Correct Answer :-

« 85 kg/ 85 foan

34) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ faq=r: fFafafEd uy ® usears e () & ®==
TR SRTHIT DI HT AT 3ITT ?

22.9889 + ? = 23
1. 32

2.1

3.23

4.24

Correct Answer :-

35) Which of the following was the first to ban Sati? / g & & @997 rfufaw
Tt R ufe=y e & fore gduyw sty 82

1. Bengal Sati Regulation / STITel ¥t S
2. Bombay Sati Regulation / St Tal fffaH
3. Sati (Prevention) Act / Idl RI®YM) Sffefaq



4. India Sati (Prevention) Act / HTRd Id Riwy™) ffafaq

Correct Answer :-

« Bengal Sati Regulation / sTTd It 3fefamd

36) Who will be the head of the National Mission Directorate of the National

Rurban Mission? / ﬂ@ﬂﬁ?ﬁ?ﬁ%ﬂ@ﬂﬁﬂ?ﬁﬁﬂ@%ﬁ“ﬁﬁﬁﬁ?

1. Union Minister of Rural Development / JTHIUl [d®h™ & d<1g Tt

2. Minister of State, Ministry of Rural DeveIopment/Q‘leIiSﬁ, T fad T Haared
3. Secretary, Ministry of Rural Development / If<id, arior fd&s T Hare™

4. Joint Secretary, Ministry of Rural Development / §gdd Tferd, A0 faw ™ Hared

Correct Answer :-

. Joint Secretary, Ministry of Rural Development / §gad Hi<d, ATHIU fddh™E HdTerd

37) Which of the following was introduced for the first time in the Juvenile
Justice (Care and Protection of Children) Act, 2015? / f2IR =uTg (@Ta®! P
T 3R wReqon) rfuferad, 2015 & siarta A & @ w=wT fFaw uRa ® duyy IR @
q1?

1. Foster care / UfqUTa® SQ@HTA

2. Treatment of juveniles in adult criminal justice systems in certain cases /Wtﬂﬂﬁ

7 fr iRl &) Tu%p! & ATIRIIS 1T YumTelt & 3favia =arg S
3. Both of the above/mﬁ
4. None of these / $TH J ®I3 gl

Correct Answer :-

» Both of the above/ BQQ-I%\ KRl

38) A trainis called a ‘bus’, bus is called ‘tractor’, tractor is called ‘car’, ‘car’
is called ‘scooter’,'scooter’ is called ‘bike’, and ‘bike’ is called ‘moped’, which
is used to ‘plough’ the field?/ TH ‘YIS B ‘T’ BT AT 3,99’ DI ‘¢aeX’ Hal
ST B, ‘edeR’ Bl ‘PR’ BT ATdl 37 ‘PR’ B ‘Tpex’ Hgl oTdl 87 TP’ & ‘q5P’ Hel Srdl
8, 3R ‘TI5®’ B! ‘HIUS’ HeT Al 8, Wd DI JdTs & T IUANT fHar Jrar g ?

1. Car/®RR
2. Train/?(*l‘l 3
3. Bus/d¥

4, Tractor/ETET



Correct Answer :-

o« Car/®R

39) If a computer is sold at a gain of 10% instead of at a loss of 10% then,
seller gets Rs.5, 000 more. Cost price (in Rs.) of the computer is: /afe & R
Pl 10% BT DI 3UET 10% Y R 391 914 , a1 fasbar & 44 5, 000 3fU® ure grm|

$R T H9 e (3. H) &
1. 25,000
2. 22,500
3. 28,000

4. 32,000

Correct Answer :-

40) Which one of the following options is/are true? / 9 & @ ST f9Heu 9
2

1. The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance
from a joint Hindu family/ fe=q STRINGR 3MfATH, 1956 & gRI dfcdl T Wgad feg
IRAR § Had SfaHT HT IBR A Tl §

2. The Hindu Succession Amendment Act, 2005 gave daughters the right to
inheritance with her male siblings / i%-gmuiﬁqm TRne i ad, 1956 & gRI afedl &I
3T UTSAT o 1Y faRrd &1 iR uar foar man

3. The Supreme Court in 2015 ruled that daughters whose fathers died before
September 9, 2005 however won’t be applicable for the Amendment / 2015 & gutyg
HIE 3 U8 I Bt 5 afed & fdr &1 gog RrawR 9, 2005 & Jd 31T 7, I8 39 G gRI
T fbd T 3P R 3 TGy e R

4. All of these / SWRIGd g+t

Correct Answer :-

« All of these / IWRIad gt

41) How many triangles are there in the given figure?/ & 75 3ofa & Ay ot
e fpadt 32

&



1.7
2.10
3.8
4.9

Correct Answer :-

42) If the price of sugar decreases by 10%, a man enable to purchase 5 kg
more sugar in Rs.450. Find the original price of sugar./iﬂT-ﬁa?H\Fqﬁ 10% HHT g
W1 & IRV TH SUHFT .450 H 5 fHur siftre 9= @t urar 8,4t i+t &1 wRftis geu

TTd Fiferg|
1. Rs.15 per kg/%. 15 Ufd f&un

2. Rs.10 per kg/%. 10 Ufd f&u
3.Rs.11 per kg/%. 11 ufd fur
4.Rs.12 per kg/%. 12 ufd fooon

Correct Answer :-

« Rs.10 per kg/3. 10 Ufd fooon

43) A man can row at a speed of 5 km/hr in still water. If he row to a certain
point in upstream and back to the starting point in a river which flows at 2
km/hr then average speed of the man for total journey is:/ 2id od H TP
et @t nifar 5 fpedt/aver 3| 9 enert Ut & faudia foazm & we fifdya fag aw wmar @
TAT G: URFUS fag R 9oy o a8 19t o1 &t wifa 2 fpedt/aver g, ot 39 snedt ot
AT & SR 3Nd T F1d B

31
5

1
3_
1. 5km/hr/ " 5 fHI/GUer

51 51
2. s km/hr/ "~ & fomHAUe

31
&

1
3_
3. & km/hr/ "~ & foHATe

=
5

1
4,_
4. sSkm/hr/ s feHl/gUe

Correct Answer :-



To protect a worksheet, you can choose Protection and the Protect Sheet
from the menu / 9HRNE B JI&T & g, 3 A F JreT iR JRfde =fte
T 9Pd 3

1. Data/ SIcl

2. Edit/ Tf&e
3. Format/ BHc

4. Review/ kg,

Correct Answer :-

. Review/ g

45) The difference of compound interest and simple interest on a principal
for two years at 4% per annum is Rs.20. The principal (in Rs.) is:/ afe foredt
AU W 4% TS T B &R A &l 6] & Tehgfey STl 3R ATURUT TS BT 3R T
20 g, a9 gau_ e (3. H)

1.12,000
2.12,500
3.13,000

4. 13,500

Correct Answer :-

« 12,500

46) According to the Food Security Act, 2013 “central pool” refers to the
stock of food grains which is procured by - / @Il & arftrﬁwaasavw PR
o &1 3 g 98 Wrend &1 YusR o T Iutfoida frar man 8 |

1. Central Government under minimum support price operations / WW&HE@I
HATe & dgd batd DR

2. State Government under minimum support price operations /WW@H@W
& d8d Ao WMBR

3. Both State and Central Governments under minimum support price operations /
TATH A Jod a1 & d8d hard IRHR Td o TRBR GH!

4. Panchayats, State Governments and Central Governments under minimum support
price operations / aHd YA Jeg AT & dgd Udardd, I IRHR T4 HEd IRBR

Correct Answer :-

« Both State and Central Governments under minimum support price operations /

TATH THY Jog AT & d8d Bl IRBR UG Aod IRBR G-I




47) By which year does the India Newborn Action Plan (INAP) aim to end
preventable newborn deaths and stillbirths? / YR Fa9iTd ST TS S99 a9
T FERU-Gg FaeTd Jog o 3R UHa & GRTH Yo o DI 3id H BT a9 7@ 32

1. 2025
2. 2027
3.2030
4. 2033

Correct Answer :-

« 2030

48) The Bhagyalakshmi scheme, a scheme promote the birth of girl children

in below poverty line families, was started in:/ TR} a1 & e vgAare ufkar) &
asfHal & 0 B gerar 31 & fore uraeHt gieT Hia IS § R I wam are

1. Madhya Pradesh / HeOUGR
2. Karnataka / ®-ilc®
3. Maharashtra / HeRRTY

4. Andhra Pradesh / 3igJ UeQI

Correct Answer :-

. Karnataka / $dicd

49) In which year did the Sexual Harassment of Women at Workplace
(Prevention, Prohibition and Redressal) Act come into force? / Afgersi &1
Friwd R dffre Iafte (Frarur, ufasy ik ufaat) sifufeam foea adf @ far mane

1. 2011
2.2012
3.2013
4, 2014

Correct Answer :-

« 2013

50) The weights of Mohan and Riya are in the ratio of 7:8 and their total
weight is 120 kg. After joining a gym, Mohan reduces by 6 kg and the ratio
between their weights becomes 5:6. By how much kg Riya's weight has

reduced?/ Mg 3N AT ST UR HHRN: 7:8 & 3rqurd H § 3N 37T $& YR 120 fFm g |



S & o ST & u=aErd Wed T HIR 6 fHuT o1 81 SITdT 8 9UT 39F HIRY BT 3uTd HH:
5:6 gl oTaT 8, a1 a1 &1 R fHa- $9 gam

1.2 kg/2 o
2. 4 kg/4 fooam
3.3 kg/3 foam
4.5 kg/5 f&ur

Correct Answer :-

. 4 kg/4 fem

51) DIRECTIONS: Study the following pie chart carefully and answer the
question given below. /= fAafefad wrd ard &1 w9 ¥ sregy = 1 few me uy &1
IR o |

The pie chart shows the profession of total population./ 1TI'I'§ Eir Pd ST &

[IUTY Y ST B

Population of city/ TR &I SH4&IT = 7, 20,000.

Transport,/afags, Business/TUTIIR,

36° T 24°

Industry/3Z@NT,

108°

Agrlcullureffﬁ‘ !

120¢

service /wtsdT,
720

How many total people are in business and transport together?/ IR Tl

uf¥ae & ool fras @R 22
1. 120,000

2. 150,000

3.40,000

4. 140,000

Correct Answer :-

- 120,000



52) Which of the following schemes has the Rajiv Gandhi Panchayat
Sashaktikaran Abhiyan subsumed? / 9 ® @ =11 AQISAT1 Iofta Wi varad
TRIFRIBROT U & Sieia 3T T2

1. Rashtriya Gram Swaraj Yojana / 1§18 U1H T&RTSl AT

2. Panchayat Empowerment Accountability Incentivisation Scheme/ PEIPREINIESERI

SEICFRH PSR RISE

3. E-Panchayat / 3-U919d
4. All of these / IWRIHd Tt

Correct Answer :-

« All of these / SWRimd I+t

53) In how many districts is the scheme to educate tribal girls in low literacy
districts implemented? / $H A1&RdT a1 foral & snfeardt arferersi ot Rign &3 3t
o pd fpa forarsit & @ 82

1. 50
2.52
3.54

4. 56

Correct Answer :-

. 54

54) A carbohydrate free diet is recommended for patient suffering from:/fFpT T | UfRa w3

D PIAlgIsge Ygd WIS B HeTg &f STl 3
1. Malaria / TR

2. Tuberculosis / dUfGH

3. Hypertension/ 3= d-Td

4. Diabetes / qﬂﬁ?

Correct Answer :-

e Diabetes / qﬂﬁ?

55) What are lines, curve, freeform, and scribble? /@S, a, WIGIH 3R f&paa
w1 82

1. Emphasis effects that can be applied to animations / THARA R Fﬂﬂ\fﬁe{ CINRCIE]



2. Types of custom motion paths / ®¥xH MIE & TR
3. Predefined entrance and exit effects / QaeiRa Uaxr 3R A& guT@
4. All of the Above/ /3udad I+

Correct Answer :-

« Types of custom motion paths / Fed AIRF & UhR

Topic:- Grad_Managerial Skill

1) Speaker-Sppech-Audience model of communication is given by:/ dddl-

HTYUT-GRe ATsd fpad grT fean war:
1. Leagans/ SIEE

2. Berlo/ gat

3. Aristotle/ 3¥]

4. Westley/ I

Correct Answer :-
« Aristotle/ 3¥J

2) This is a dictatorial type of leadership where a single person makes the

entire decisions:/ 94 ®I3 U aAfed R fHofa dar @ @ 98 IR YeR &1 A9« gla1 @
o weT wITan 3:

1. Autocratic/ FRe
2. Democratic/ USITdI~Id

3. Laissez Faire/ ¥d&T 7 & aTal

4. None of the above/ SWRiad § 9 d?lir:l?’f

Correct Answer :-

« Autocratic/ FRe

3) The first step of community development process was:/ Wﬁﬁm
UfehaT o1 Ugen WT &:

1. Setting objective/ d&d fAuR
2. Identification of the need/ Waﬁw

3. Assessing resources/ IATEH] BT SHidhad



4. Considering alternatives/ fd®edl W faaR

Correct Answer :-

. Identification of the need/ 3TaRTHdl I UgaT

4) Fundamental or basic objective of Community Development in India is

the:/ YRd ¥ AeI® fdera & Wifas a1 ga 38=4 §:
1. Food for people/ @1l & for@ HieH

2. Development of people/ A &1 foer

3. Growth of people/ @i ¥ gfg

4. Education of children/ sl 1 fRiaf

Correct Answer :-

. Development of people/ @R &1 f[dHT™

5) The degree to which the results of an innovation are visible is called:/

fordlt TaraR & ufvonw feaTs ¢ & W @ He1 91T §:
1. Observability/ THderd

2. Complexity/ BIRGG]

3. Compatibility/ 3 cldl

4. Triability/ TENTYfHaT

Correct Answer :-

- Observability/ Tdd&rd

6) Second five-year plan was geared for improving:/ gu’t Uaaufa gre= 394
YR & fog dar & 7 <Rt

1. Agriculture/ Tﬁf
2. Industry/ I

3. Modernization/ 3 IHI0T

4. Health/ WY

Correct Answer :-

« Industry/ J&



Self Help group is a:/ a4 HgTddl IYE § UH
1. Voluntary organization/ ¥f5® T167
2. Non-voluntary organization/ RIS G8

3. Institution/ I
4, Community/ dHard

Correct Answer :-

. Voluntary organization/ W& e

8) The printed bound booklet with a number of pages containing
comprehensive information about a topic is called a:/ &t oft favg F IR #
I AR 31 arell $© Y8) @1 gfa yfeasr seard 3:

1. Bulletin/ gafcs
2. Leaflet/ SRdeR
3. Newspaper/ JHERYA

4. Magazine/ GfAa1

Correct Answer :-

- Bulletin/ geifed

9) The philosophy of Community Development Programme:/ HTEETﬁ?FﬁI?Fm
$|' .

1. Only democratic growth/ Had YelTdlf~ed [Aerg

2. Development through people’s participation/ QAT B UFTHTRIAT & T1eH 9 f[aahT

3. Educational development/ Rféi® faemg
4. Nutritional development/ CILYIRCRGEIR:

Correct Answer :-

. Development through people’s participation/ @ @1 UfTHIRTAT & ATend ¥ fawr

10) A series of cards presented before an audience one by one to tell a

complete story is called:/ m%w&@mm%mW-WWﬁmﬁﬁ
W 914 BTS| B Y

1. Flash Cards/qaﬂaﬂéﬁ
2. Flip cards/ﬁﬂtraﬂ@



3. Graph/ %
4. None of the above/ SIRIgd & ¥ &g Tal

Correct Answer :-

« Flash Cards/ TR &T84

11) The leader allows the employees to make the decisions in:/ o9 AdT

HHaTl @I fAukg a9 B srgafd <a1 8

1. Autocratic leadership/ FRGAdd

2. Democratic leadership/ USITdifA® Aqd
3. Laissez Faire leadership/ Sg®URI Add

4. None of the above/ SRiad § 9 dr?lirﬂ%cf

Correct Answer :-

. Laissez Faire leadership/ R4 Aqd

12) National Extension Service was started in the year:/ 814 fawR da1 1
YreaTd g af &t 7s;:

1. 1951
2.1952
3. 1953
4. 1954

Correct Answer :-
« 1953

13) Date and time of activity is known as:/ Tfafafy ot fafy s gUsTH A FUH
ST ST @:

1. Plan of work/ capk Ak

2. Calendar of work/ &7 &T Haiel
3. Perspective plan/ gRU&d IS
4. Annual pIan/aT%ZI}IGHT

Correct Answer :-

« Calendar of work/ T BT PaeR



14) A self-managed institution of 10-20 members, based on common interest
& affinity for socio-economic improvement of their members:/ 10-20 Xl Bt

-y TR, S 3o et & wis fod wranfore-enfde ot wrar w smurfa g 6
1. Communal group/ STHIGIRI® THg

2. Residential group/ &Hﬁlﬁ'ﬂﬂﬂ:s’

3. Self-help group/ d-981AdI ¥ig

4. Non-formal group/ 3AIUaIR® T

Correct Answer :-
« Self-help group/ ¥W-Telddl ¥Hg

15) It is an aggregate of two or more persons among whom there is an

established pattern of interaction:/ 98 & a1 3ifY® aufeaal &1 Tewirs & e =
T T RITUA a<te gidT 8:

1. Development/ fa®Td
2. Group/ dHg

3. Leadership/ ﬁ?j(‘q'
4. Society/ JH

Correct Answer :-

« Group/ 9¥g

16) First step of programme planning is:/ WWWWW%—
1. Determining objectives/ B%mﬁufh—crm

2. Identification of problem/ THIET & Ugd™

3. Collection of facts/ a2l &1 TUGU

4. Solution of problem/ JHIT w1 JHTYUTT

Correct Answer :-
« Determining objectives/ aésa Ay e

17) The communication method under which lecture comes is:/ agqﬁwﬁ&r
R siata eI ST &:

1. Individual/ aafddid
2. Group/ dHg



3. Organizational/ ITGATHD
4. Mass/ oI (ﬂﬁﬁﬂe@)

Correct Answer :-

« Group/ 9%g

18) Gram sewak is an example of:/ UTH Ad® [HIBT ISEI &
1. Professional leader/ URIaR Al

2. Lay leader/ SfRIard =

3. Top Leader/ PR

4. None of the above/ IWIdd H ¥ HIg g

Correct Answer :-

« Professional leader/ U=aR Al

19) MNREGA started to provide:/ T (MNREGA) 3! &3 FT SUAR TR &

g 1 713;:

1. Employment/ RUSKIEY
2. Education/ fRreqm

3. Nutrition/ Iyor

4. Health facilities / ¥areg gfayr

Correct Answer :-

« Employment/ ISR

20) The Rural Community Development Programme in Pakistan is called as:/

urferwar ® yrftor argeie faera srdewu &) w1 war §:

1. Village Aid Programme/ 19 GgTIdT HTIHH

2. Village Development Programme/ ™ fasmr Srdsmd
3. Community Development Programme/ TGl (A& HAGH

4. Cooperative Development Programme/ TeHRI faeTg SrisH

Correct Answer :-

. Village Aid Programme/ 19 JgTdl HTIHH



21) Indicative planning started from:/ J&dTH® AT B AT H9 I §3:
1. Eighth plan/ 334! Aol

2. Seventh plan/ GIEIRSEI

3. Sixth plan/ EIKIEEI]

4. Fifth plan / Uf=dl arerT

Correct Answer :-

« Eighth plan/ IEE KIS

22) Identification of leadership pattern is very important in group:/ ﬁ?!c_q'aF
TP B UgarH IYE § 954 98U &

1. Disbursement/ faaRur
2. Mobilisation/ Idddl
3. Running/ ERIE]

4. Satisfaction/ Iqf®

Correct Answer :-

« Mobilisation/ Igdddl

23) Leader is one who:/ =l 98 gidT @ Wi

1. Influences politicians/ w:ﬁﬁshuvumm%

2. Influences others/ WWWQWW%

3. Have money power/ 1% UTY ¢4 e gl @

4. Have political power/ g% o IeHifae wfed g 8

Correct Answer :-

. Influences others/ 3= Tl TR UHTd STIdT &
24) Panchayat is a:/ U9/d gidl &

1. Village Institution/ I8 SR

2. Village Organization/ U9 T34

3. Community/ 9Hcald
4. Society/ JHIS

Correct Answer :-



« Village Institution/ 9189 &I

25) PRA is a method of:/PRA SUPI TP a1 &
1. Continuous checking/ =R Siig

2. Data collection/ &3 &1 TUGU

3. Identification of problem/ A $I UgaH

4. Solution of problem/ JHIT w1 JHTYUTH

Correct Answer :-

« Data collection/ 3i&3! &1 GUGT]

26) The physical bridge between the sender and the receiver of a message

is:/ foeft T=2=1 & Nerw 9 urasal & di9 vifas qa searmar 3:
1. Treatment/ dgR
2. Response/ U}

3. Channel/ HI9H

4. Encoder/ Q:I$ISQ

Correct Answer :-

« Channel/ HTIH

27) Monitoring is:/ FRRTAT &1 I 2:
1. Continuous checking/ FR<R Sii=

2. Judging/ AR

3. Evaluating/ Hcaih+
4. Shifting/ QIR

Correct Answer :-

« Continuous checking/ FR=R 59

28) The Community Development Programme was started with:/ '\‘ITﬂETW
e Srdey o P ed 39 AU ES:

1. 45 community development projects/45 raIie fas iy uRareH
2. 50 community development projects/SOFWﬁthﬁ?ﬂW



3. 55 community development projects/55 %rraarﬁwﬁwmtr&qﬁw
4. 60 community development projects/60 HTH&IR% fdHT URTSHTE

Correct Answer :-

« 55 community development projects/55 &% fahT URTSHTE

29) The author of book entitled ‘Education and Communication for

Development’ is:/ 'TIHRA TS RS BIR STATHS' AP & AW o:
1. N.Rollings/ . Jfeet™

2. A.Reddy/T ISt
3. G.L.Ray/ SiI.Ud. I

4. 0.P.Dahama and Bhatnagar/ 3141, S8 T YR

Correct Answer :-

« O.P.Dahama and Bhatnagar/ 3141, S8 T YeATR

30) A decision not to use an innovation as the best course of action available

is:/ AR &1 BRIl & aaH d3P! & =9 & YINT 7 B &1 fofa:

1. Adoption/ i fd
2. Rejection/ 3fdldhid

3. Perception/ YRUM
4. Utility/ SUTIRTT

Correct Answer :-

« Rejection/ 3rdipid

31) The communication between superior to subordinate is:/ mmm%
1 & IR F) HT ST B:

1. Influence/ UHTd
2. Information/ 1
3. Integrative / 3Tagdh

4. Command/ 3 A

Correct Answer :-

« Command/ 3T



32) Face to face association is visible in:/ﬂﬂﬁ-ﬁmﬁﬁmﬂgﬂﬁm%%
1. Primary group/ UT4fli® 948
2. Secondary group/ fgdia® g

3. Tertiary group/ Jaide JYg
4. Transitory group/ &‘Iﬁ@ﬂﬂ‘ﬁ’

Correct Answer :-

« Primary group/ EITWEHE

33) Eighth five year plan period was:/ 334l Yaaufg gy rafy 8-
1. 1997-2002
2.1992-1997
3. 1985-1990
4. 1980-1985

Correct Answer :-

« 1992-1997

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: FafafEd s & aFyd® TeH: 39 4 83 T sgfawed! u=ai & 98t
fawey &1 799 B

Companies need to be able to communicate effectively. This is especially
true of large companies where personal interaction may not be practical.
This is where formal communication comes into play. Formal communication
involves utilizing the formal communication channels of an organization.
Formal communication can move vertically in an organization. Information
is collected and flows up to the top levels of management for review and
decision making, while orders flow down from the top to the place where it
will be implemented. For example, employees may be given a presentation
from the human resources department on new policies and procedures.
Formal communication can also flow horizontally across the organization.
Unlike vertical communication that involves communication between a
higher and lower level of an organizational hierarchy, horizontal
communication occurs between two parts of the organization at the same
level. For example, the vice-presidents of a company may hold a quarterly
meeting to discuss the upcoming quarter. Not all communication in an
organization is formal. Informal communication is communication between
employees outside the formal communication structure of the company.



While the subject of informal communication can be business-related, it
need not be. You can think of informal communication as 'water-cooler
talk./

HUfal B THTE! b F TR0 HA H WEH T4 B 93 gid] o1 I8 AT U § 73}
SHufra) & fore T & Siel aafaaTTa Yare uagTie gl gidr| 3 IHY WR g1 Ui qRuy
IATHA 3TaT 21 3Nuarye Fauo § fpedl e & hu=nfye TRivr 3=« &1 ST ST
i gar 31 iy Twyor fHadt oft e § SR & avw o1 ghdl 8| a1 THid Dt
STt @ ok ug wHtenm aur faofa a9 & fore yaem & iy TRl & Wil st 8, stafe smewr
Y A I R T 1 B G ST & ST8T 3T fohar=a= g | 3eTevvr & forg, sv=anfyal &
=% fifaat T ufsrarfaftal w are wxreE faumT 3t ok & wgfa &t = 81 siruanfye
Il Tre H Sfest Tu R oft yarfed 8 Toar 81 SIS UeTIHH & IR g R
TR & S GHIUT ardl Taad SR & fudta, afeas 9o 999 ® R W) 169 $ &
few=at & = gar 81 Sererur & fore, forelt vt & ardw UfrSe smm fawmdt & ar & ==t
¥ e RO S50 o7 goa 81 frdt Trea & 9arT gwivor shuarie 78 gt 21 sHvarie
RV AT P NURTRS TRV 29 & J18% FHATG] P 9 | g1 arer IR gidT 2|
wiel NuaTfYe THvor &1 vy sraura § 9w 8 Godl 8, 981 59 forg 891 89 &t
SATARIHAT Al g1 3T NG THYT B ATeR-HeR [P’ & &Y H Hed-T HY Tohd g

What is communication?/ Il &7 idT 82
1. Information sharing/ GaI3{l BT 3MTGH-UGH

2. Commanding/ STGRT AT

3. Instructing/ [EERIG]

4. All of the above/ BTRiEH“H‘J-ﬁ

Correct Answer :-

« All of the above/ Iudad g+t

2) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Fafefad e &1 wryde yeo: 3u@ 1 f3d T agfawadt uzei o W&t
faweu 1999 B

Companies need to be able to communicate effectively. This is especially
true of large companies where personal interaction may not be practical.
This is where formal communication comes into play. Formal communication
involves utilizing the formal communication channels of an organization.
Formal communication can move vertically in an organization. Information
is collected and flows up to the top levels of management for review and
decision making, while orders flow down from the top to the place where it
will be implemented. For example, employees may be given a presentation
from the human resources department on new policies and procedures.
Formal communication can also flow horizontally across the organization.
Unlike vertical communication that involves communication between a
higher and lower level of an organizational hierarchy, horizontal
communication occurs between two parts of the organization at the same
level. For example, the vice-presidents of a company may hold a quarterly



meeting to discuss the upcoming quarter. Not all communication in an
organization is formal. Informal communication is communication between
employees outside the formal communication structure of the company.
While the subject of informal communication can be business-related, it
need not be. You can think of informal communication as 'water-cooler
talk./

Hufra S UTH TP A TR0 H1 H J&H 91 B 7w gal 31 78 ARy = 9 7
ST & fU T @ W8l AfoaiTd JdTe SAagIe gl gidT | U8 IHY W 8 =iy gwivor
ITHA 3TaT 81 3iuarfye TRy § fpedt s & shu=nfye IRivor I &1 ST ST
i gar 31 Siuarfye Twyor fHedt ot W6 § SR &1 avw o gddl 8| a1 THid Dt
STl 8 3R gg gHtem aur fAofa a9 & e uaem & i wRY 9@ Asll ST 8, Safe smewr
T & I W 9 =2 Y TG ST & STl ST fohar=a= g1 | ISrgvvl & forg, syarfyal &1
% ifeaY 7 ufparfaftmat w wra gareE faum & ok @ yxgfa &t st 1 siuenfys
YU e H afes ©u A ff yared 8 I&d1 81| ST H® Ugrshd & Sy 9 fHHaR
TR & T G arel drad TRV & faudla, &fest IRIv 6 ©R W 08T & &)
fewa & &= gaT 21 Iererur & forg, fhft vt & arsw afee s faardl & e & ==t
& fore foraTd) 950 B Goba B frelt T & 9RT I8Ivr siu=iye T8 T 21 suarfye
TR S & ST TR S & qTeR SHAT Al & ot H g1 arer FHEwor g g
el SNuarfYe THvor &1 vy sraura & G 8 Godl 8, 981 S0 fg 891 84 3t
STIRIHAT 5! 21 3T SuAe YT F} 'dqe3-HeR D' F TU H Heu-l HL IPd ¢

What is formal communication?/ mmwﬁm%o
1. Organizational communication/ AT TN

2. Non-official communication/ TR-3HfYp TS FHIyur

3. Both of the above/ JWRIad Gl

4. None of the above/ SRIgd & m\lé‘ﬂﬁf

Correct Answer :-

« Organizational communication/AT&ATHS FHRINU]

3) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 9@ AR fd M sgfaw«dt uxi & W&t
fasea &1 9 I

Companies need to be able to communicate effectively. This is especially
true of large companies where personal interaction may not be practical.
This is where formal communication comes into play. Formal communication
involves utilizing the formal communication channels of an organization.
Formal communication can move vertically in an organization. Information
is collected and flows up to the top levels of management for review and
decision making, while orders flow down from the top to the place where it
will be implemented. For example, employees may be given a presentation
from the human resources department on new policies and procedures.
Formal communication can also flow horizontally across the organization.
Unlike vertical communication that involves communication between a



higher and lower level of an organizational hierarchy, horizontal
communication occurs between two parts of the organization at the same
level. For example, the vice-presidents of a company may hold a quarterly
meeting to discuss the upcoming quarter. Not all communication in an
organization is formal. Informal communication is communication between
employees outside the formal communication structure of the company.
While the subject of informal communication can be business-related, it
need not be. You can think of informal communication as 'water-cooler
talk./

HUfra) B THTE b F FRG HIA 7 WEH 91 I 9 gid! 81 8 fadiy Fu d a3t
HUF & T T 3 W8l AfRiTd TG ageTiye T8l gidaT| T 0y R & situ=arie gwiyor
A 3MaT 81 Siuarye TRy § feedt s & shu=nfye Irivor S9! &1 ST ST
i gar 31 iy Twigor fHad} oft Wrew #§ SR &) 9w o1 gahdl 8| a1 THid 3t
STl 8 3R gg JHtem aur fAofa a9 & foe udes & 2 wR) a@ Aol s 8, Safe smawr
Y T 9 WM TF 12 Y T S1a & S8l STP1 fhar=a- g1 | 3eTevvl & fe, wH=rfal &
T3 Afed} 9 ufparfafial w Are dared faunT 6t 3k @ wgfa & ardt 81 shu=nfyes
YT WTe+ A &foet U W yarfaa 8t Tedr 1 I oS UeTIHy & SR 9 R
TR & 7 IR q1d Faad IRV & fqudia, afos Iwyor q9H= wR R 69 & &l
few=at & = gaT 81 Sereru & fore, forelt vt & ardw UfrSe smm fawd & IR & ==t
& fore foumd) 55 H= ad 81 forelt Tira & IRT Iwivr siu=nfye 81 giar 81 sruanive
R A & SRS THIY 9 & 18R HHATNA! & St A S are FHN g1 3|
wiel U=t TRyl &7 favy sgaurd & Wi 8 Todl g, 98] 39 g 8HT 811 &
SATIRYHT 71 31 MY u=nfid TR # qrer-Her AP’ & T A Heu-T H2 JHd 3

What is informal communication?/ GIT-ﬁ'QiITWW'EI'UTWﬁ?ITa9
1. Non-official communication/ TR-31e/w1ReE TwIwor

2. organizational communication/ TSATHD FHIVOI

3. Both of the above/ SWRI G

4. None of the above/ SWRIdd H I HIg el

Correct Answer :-

o Non-official communication/ TR- 3BTRS JHIyT

4) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEa Tz &1 wFyde ygss 9@ i @4 T sgfawed u=-l & w&t
fawey &1 999 B

Companies need to be able to communicate effectively. This is especially
true of large companies where personal interaction may not be practical.
This is where formal communication comes into play. Formal communication
involves utilizing the formal communication channels of an organization.
Formal communication can move vertically in an organization. Information
is collected and flows up to the top levels of management for review and
decision making, while orders flow down from the top to the place where it
will be implemented. For example, employees may be given a presentation



from the human resources department on new policies and procedures.
Formal communication can also flow horizontally across the organization.
Unlike vertical communication that involves communication between a
higher and lower level of an organizational hierarchy, horizontal
communication occurs between two parts of the organization at the same
level. For example, the vice-presidents of a company may hold a quarterly
meeting to discuss the upcoming quarter. Not all communication in an
organization is formal. Informal communication is communication between
employees outside the formal communication structure of the company.
While the subject of informal communication can be business-related, it
need not be. You can think of informal communication as 'water-cooler
talk./

U B JUTR TS T YU HI1 & HeH 9991 &1 91d gidt 81 g8 faRy Fu 3 7
ST P fU T 8 W8l AfaTTd JdTe AeIRS ! gidT | U8 IHY W g =iy geivor
IATHA 31T 21 3iuarfye Faue § fpedt e & shu=nfye IRivor I« &1 ST ST
i gar 31 siuanfye Twyor fHedt ft W6 § SR & avw o gl 8| Ja-T THid Dt
STt @ 3R g8 FHiam ayr fAofg a_ & fore yeiem & iy TRl d& Yl @irdt 8, Safe e
T & I W 9 A2 B GG ST & Sl ST fohar=a= g | ISTgvvl & forg, paartyal &1
=% -ifoal g ufparfaftmt w are garea faum & ok @ wgfa & st 81 siu=nfys
YU A § afos ©u A ff yared 8 &1 81| STe-TdH® Ugrshd & 3wy 9 fFHaR
TR & T G arel dad TR & faudla, &fas IRivor 6 ©R W 08T & &)
fewa & f= gaT 21 Iererur & forg, fpft vt & arsw afSe s faardl & e & ==t
& fore foaTd) 950 B Goba B fpeft T & aRT I8Ivr siu=niye 8 gt 21 sAuarfye
TRV HHAT P YIS RV S P 9183 FHANRA] & S § g aren JH9oT gidr g1
Siel SNy TRVl o1 fauy sraura & G g Godl 8, 981 8 fore 841 81 &t
SATIRGHT T8l 31 MY TP TR B qTeR-FHeR [P’ S U H Heu-T HL Jhd 3

What is flow of communication?/ JWYUI T UqTg &1 gdT 82
1. Top to down/ IR I =

2. Down to top/ I IR

3. Both of the above/ RERCSEAR

4. None of the above/ IWRIdd H ¥ HIs g

Correct Answer :-

. Both of the above/ IURlad gl

5) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafifEd s & eaFyd® UeH: 39 4 33 T sgfawed! u=ei & 98t
fawey &1 79 B

Companies need to be able to communicate effectively. This is especially
true of large companies where personal interaction may not be practical.
This is where formal communication comes into play. Formal communication
involves utilizing the formal communication channels of an organization.
Formal communication can move vertically in an organization. Information



is collected and flows up to the top levels of management for review and
decision making, while orders flow down from the top to the place where it
will be implemented. For example, employees may be given a presentation
from the human resources department on new policies and procedures.
Formal communication can also flow horizontally across the organization.
Unlike vertical communication that involves communication between a
higher and lower level of an organizational hierarchy, horizontal
communication occurs between two parts of the organization at the same
level. For example, the vice-presidents of a company may hold a quarterly
meeting to discuss the upcoming quarter. Not all communication in an
organization is formal. Informal communication is communication between
employees outside the formal communication structure of the company.
While the subject of informal communication can be business-related, it
need not be. You can think of informal communication as 'water-cooler
talk./

HUTT B YU d3P A IR0 HA § G 999 I oi=1d gid! g1 98 fa9y +u A a3
Suf~ra) & e T & Sigl AfoaiTa Ydre Uaglie gl gidr| 3 IHY W g1 Ui aHgoy
TTHA 31T g1 3Ny IR § fedl Ted & Nuarive SRl 9l & STTRT ST
i gar 31 ey Twigur fadt oft Wirew § SR & avw o Gehdl 81 a1 UHd 3t
STl 8 3R gg JHtem aur fAofa a9 & foe udem & i wRi a@ Aeft ST 8, Safe smewr
Y A 3T RIF T K B G ST & S8l ST fohar=a-1 g | 3&Tgvul & forg, seanfya) &
T3 Afed} 9 ufparfafial w Are Sared faumT 6t ok @ wgfa & ardt 81 shuemfye
YT WTe+ A &fowt U d W yarfaa 8 Twd1 81 I oS UerIny & SR 9
TR & g IV arel drgad gevor & fudta, dfas I8ivor g9 W W e F 3
few & S glaT 81 Serevur & fog, fhed wwet & ardw ifise smm fowmst & I & <=t
& e FraTdt A5 B TP &1 fpet T & IRT Fuivor siuanfye &) gt 21 suaie
TR SHHT & NUATRD RT3 P 9188 PHANG] P oI & g1 arar GHr gidr gl
el SNuaTfye Tuivor &1 vy sraura & GWia 8 godl 8, 981 S0 fe 891 89 &t
ATARIHT -TE1 &1 MY SIS THYUT B 'qTeX-FR el & &9 H Heu-I B gobd g |

Write the other name of informal communication?/ ﬁﬁmw?ﬂm

= fafee

1. Organizational communication/ SIS T
2. Internal communication/ 3fidRd TN

3. Transect talk/ &ECIE'EI'I?ﬁ

4. Water-cooler talk/ aex-geR ardi

Correct Answer :-

« Water-cooler talk/ GIEQ-WEHT-HC

6) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd e & eaFyd® TeH: 39 4 3 T sglawed! u=ai & 98t
fawea &1 a7 B



Companies need to be able to communicate effectively. This is especially
true of large companies where personal interaction may not be practical.
This is where formal communication comes into play. Formal communication
involves utilizing the formal communication channels of an organization.
Formal communication can move vertically in an organization. Information
is collected and flows up to the top levels of management for review and
decision making, while orders flow down from the top to the place where it
will be implemented. For example, employees may be given a presentation
from the human resources department on new policies and procedures.
Formal communication can also flow horizontally across the organization.
Unlike vertical communication that involves communication between a
higher and lower level of an organizational hierarchy, horizontal
communication occurs between two parts of the organization at the same
level. For example, the vice-presidents of a company may hold a quarterly
meeting to discuss the upcoming quarter. Not all communication in an
organization is formal. Informal communication is communication between
employees outside the formal communication structure of the company.
While the subject of informal communication can be business-related, it
need not be. You can think of informal communication as 'water-cooler
talk./

HUfal B THTE T F TRV 6 H WEH T4 B 93 gid! o1 I8 ARy U § 73}
Suf~ra) & fore T & Siel aafeaia Ydare uagTie T8l gid1| 3 IHY W g1 SNuArie qRuy
IATHA 3TaT 21 3Nuarye FHuo & fpedl s & hu=nfye IRivr 3=« &1 ST ST
i gar 31 iy Twyor fHadt oft Wre § SR &) avw o1 gdhdl 8| a1 THid Dt
STt @ ok ug wHienm aur faofa a9 & fore yaem & iy TRl a& Wil st 8, stafe smewr
Y A I R T 7 B G ST & ST81 3T fohar=a= g | IeTgvvr & forg, svanfyal &
=% fifaat T ufsrarfaftal w are wxmeE faumT 3t ok & wgfa 3t =i 31 siruanfye
TRl Tre H Sfest 0 R oft yarfed 8 Toar 81 SIS YT & IR g e
TR & S RV a1 Traad 9RIvT & fudid, afeas IR 6 ®R W® 169 $ &)
fewa & S gaT 21 Iereur & forg, fped) wvoeht & s Wi e s foArst & I & ==t
& e T 350 B Goba B frft T & aRT Iuivr siu=nfye 8 gt 21 suarfye
RV BT P NS TRV 29 & J18% FHATG] S 9 | g1 arar GHIvo gidT 2|
wiel NuarfYe THvor o1 vy sraura § 9w 8 Godl 8, 981 5T forg 841 89 &t
SATARIHAT a1 g1 3T NG T B qTer-HeR [P’ & &Y H BT HY Tohd g

What type of communication used in any organization?/ f&ft T # feg avg
& JEIYUT T IURT fhar SraT 82

1. External communication/ STg3 JRINT
2. Horizontal communication, &fas gy

3. Vertical communication/ FIWGF[?ITQNUT
4. Extra-personal communication/ &rﬁﬁaa-maemw

Correct Answer :-

« Horizontal communication/ &fcs TN



7) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd s # aFyd® TeH: 39 4 3 T sglawed! uxai & 98t
fawea &1 a7 B

Satellite television is television delivered by the means of communication
satellite and received satellite dish and set-top box. Satellite is located
37,000km (22,300miles) above the earth surface. The first satellite signal
was relayed from Europe to the Telstar satellite north America in 1962. The
first domestic North American satellite to carry television was Canada's anik
1 which was launched in 1973. In mid1960’s a noted Indian scientist, Dr.
Vikram sarabhai, began arguing that a nationwide television system could
play a major role in promoting economic and social development. At
sarabhai initiative, a national satellite communication group (NASCOM) was
established in India in 1968. SITE (satellite Instructional Television
Experiment) was a one year pilot project in 1975-76 primarily under taken to
experiment thorough satellite communication to reach rural areas in India
with specially designed programming. SITE’s objectives were to improve
rural primary school education, to provide teacher training, to improve
agricultural, health and hygiene, and nutrition practices and to contribute to
family planning and to national integration./

Jearse eifae IRIvur Iusrg & Aread | myfef far S arar ik Suug (@dearse) fexra
Je-a1y 919 A urd forar M aren Seifas 81 Sure (dedrse) it &5t gdg | 37,000
fortit (22,300 i) & gt W Ry 31 ygan Aearse Ry 1962 & RIT I daweR dcdrge
FUR AT a yTivd foar 4 31| A &1 @ 91H araT Ugdn TR SO AR@I SuiE
@carge) F1ST 3If P 1 41 &t 1973 ® wafia fvar Tam U1l 1960 & <x1% & e H,
Uit YR AgTfe Sf. fard aRTUTS A 98 a9 &1 = foar fF snfde 9 arurre
faera o Memfea He & yardt Seifae gumel wg@ YfireT iyt adl 81 aRTHTS 91
Ugd |, 1968 H YRA # TH APIY AeaTse HHYHIAE YU (NASCOM) Tt RITYHAT H T |
1975-76 ¥ Y= fpaT1 14T ATEe (AdaTse SUCRMd cdliaur TaIuHe) TP THaulg ured
it <t ot Ry § YRa § grftr &3 9@ ugen & fore Swre wwiver & wahT & fore
Ry =9 | 9918 wrnfi & e 3= & 75 &) "rge & gl o ardior fyurer e A guR
F1, FR1ere ufieror e w1, FiN, WTRA T Ta=sdr Ul WyoT 3grEl § JUIR ST 3R
ufkar fie 9 It et & aiTer 3T =i AT

Satellite television is television delivered by the means of communication
satellite and received satellite dish and:/ 3¢dTgc eifaw= TRV IUUE & HIHH
¥ 3myft forar T Iuwg fE=raur SRT U fomar rar eefifae @

1. Computer/ PR

2. Television/ Telfdeid

3. Set-Top Box/ Y-y diaq
4. Modem/ AleH

Correct Answer :-

« Set-Top Box/ Jc-a1g §iag



8) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd s # aFyd® TeH: 39 4 3 T sglawed! uxai & 98t
fawea &1 a7 B

Satellite television is television delivered by the means of communication
satellite and received satellite dish and set —top box. Satellite is located
37,000km (22,300miles) above the earth surface. The first satellite signal
was relayed from Europe to the Telstar satellite north America in 1962. The
first domestic North American satellite to carry television was Canada's anik
1 which was launched in 1973. In mid1960’s a noted Indian scientist, Dr.
Vikram sarabhai, began arguing that a nationwide television system could
play a major role in promoting economic and social development. At
sarabhai initiative, a national satellite communication group (NASCOM) was
established in India in 1968. SITE (satellite Instructional Television
Experiment) was a one year pilot project in 1975-76 primarily under taken to
experiment thorough satellite communication to reach rural areas in India
with specially designed programming. SITE’s objectives were to improve
rural primary school education, to provide teacher training, to improve
agricultural, health and hygiene, and nutrition practices and to contribute to
family planning and to national integration./

Jedrse eifae IRV Iusrg & Aread | myfef far s arar ik Suug (@derse) fexra
Ye-elu ITRT A Ured fopar =i arer Seifaw 81 SWIs (dearse) Uit & Jag & 37,000 feht
(22,300 TteT) & gt W FRIG 81 vgar Acarse Rua 1962 H RIU A TaER Aedrse ST
SATYPT a® yaTiRa far mam oT | RIS 3t & 14 arar Ugar IRy SR ANNS! Iuug
@eaTse) HATST 3 1 AT =Y 1973 © e fam war 411 1960 & =16 & Ae |, Juids
YR Ag1fe ST, fawpw aRTuTS A 98 9 31 3= o {6 nfife g wrnfore faera &t
WTigd oA § Ipaardt Sefifaw yomrelt Wy et frum Jed! 81 aRTUTS ot Ued IR,
1968ﬁWﬁ@ﬂ@ﬂmmﬁﬁﬂﬁg’q(NASCOM)ﬁRmﬂﬁﬂgl 1975-76 ¥ Y=

forar T ITde (Aedrse ST calfau TRIUNHE) TP UHaU g uresd uivarer 8t ot
muﬁmﬁmcﬁwaﬁwugaﬁ%ﬁmmmaw%m%ﬁmﬁﬁqwﬁm

TR & foe 3E @1 15 <01 Age & agal d ymftor ey Rren | guR w0, e
WIRIE0T YeT $HT, HiV, TR T TS 9T TY0T 3Tl & GUR H1 3R ufvar e
9 YT THaT A TNTQI 1 2MFHe AT

Satellite is located above the earth surface by:/ ﬁ%m‘g‘eqtﬁaﬁm%mﬁm
o IR Rt e T 3

1. 37,000km/37,000 T HT
2. 38,000km/ 38,000 fop
3. 39,000km/39,000 fop it

4. 40,000km/ 40,000 faHt

Correct Answer :-

« 37,000km/37,000 foosit



DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd s # aFyd® TeH: 39 4 3 T sglawed! uxai & 98t
fawea &1 a7 B

Satellite television is television delivered by the means of communication
satellite and received satellite dish and set —top box. Satellite is located
37,000km (22,300miles) above the earth surface. The first satellite signal
was relayed from Europe to the Telstar satellite north America in 1962. The
first domestic North American satellite to carry television was Canada's anik
1 which was launched in 1973. In mid1960’s a noted Indian scientist, Dr.
Vikram sarabhai, began arguing that a nationwide television system could
play a major role in promoting economic and social development. At
sarabhai initiative, a national satellite communication group (NASCOM) was
established in India in 1968. SITE (satellite Instructional Television
Experiment) was a one year pilot project in 1975-76 primarily under taken to
experiment thorough satellite communication to reach rural areas in India
with specially designed programming. SITE’s objectives were to improve
rural primary school education, to provide teacher training, to improve
agricultural, health and hygiene, and nutrition practices and to contribute to
family planning and to national integration./

Jearse effaer IRIvur Iusrg & Aread | myfef far s arar ik Suug (@dearse) fexra
Ye-elu ITRT A Ured fopar =i arer Sefaw= 81 SWIs (dearse) Uil #f Jag & 37,000 fHht
(22,300 TteT) & gt W FRIG 81 vgar Acarse Rua 1962 H RIU A TaER Aedrse ST
SATYPT a® yaTiRa far mam or| TARTI 3t & 14 arar ugar IRy SR ANNS! I3uug
@eaTse) HATST M 1 4T =Y 1973 © e fam mar 411 1960 & =16 & Aeg |, Juids
YR Ag1fe ST, fawa aRTuTs A 98 9 31 3= o {6 enfife g wrnfore faera &t
WATied S § Ipaardt Sefifaw yomel Wy et frum Jed! 81 aRTUTS ot Ued IR,
1968ﬁWﬁ@ﬂ@ﬂmmﬁﬁﬂﬁg’q(NASCOM)ﬁRmﬂﬁﬂgl 1975-76 ¥ Y=

forar a1 ATde (AArse S TR calfau TRIUNHe) TP UHau g uresd uivarer 8t ot
uwuﬁmﬁmcﬁwﬂaﬁwugaﬁ%ﬁmmmﬁw%m%ﬁmﬁﬁqwﬁm

WA & foe 3E @t 15 <01 Age & agal § ymftor fyuray Rren | gur w0, e
WIRIE0T YeT $HT, HiV, TR T TS 9T TY0T 3Tl & GUR H1 3R ufvar e
9 T THdT A TNTQI 1 e T

The first satellite signal was relayed from Europe to the Telstar satellite

north America in:/ UgdT IWIE Hdd JRIU A TARR Aearge st ANST # S d auf &
gt foear T

1. 1961
2.1962
3. 1963

4. 1964

Correct Answer :-

« 1962



DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd s # aFyd® TeH: 39 4 3 T sglawed! uxai & 98t
fawea &1 a7 B

Satellite television is television delivered by the means of communication
satellite and received satellite dish and set —top box. Satellite is located
37,000km (22,300miles) above the earth surface. The first satellite signal
was relayed from Europe to the Telstar satellite north America in 1962. The
first domestic North American satellite to carry television was Canada's anik
1 which was launched in 1973. In mid1960’s a noted Indian scientist, Dr.
Vikram sarabhai, began arguing that a nationwide television system could
play a major role in promoting economic and social development. At
sarabhai initiative, a national satellite communication group (NASCOM) was
established in India in 1968. SITE (satellite Instructional Television
Experiment) was a one year pilot project in 1975-76 primarily under taken to
experiment thorough satellite communication to reach rural areas in India
with specially designed programming. SITE’s objectives were to improve
rural primary school education, to provide teacher training, to improve
agricultural, health and hygiene, and nutrition practices and to contribute to
family planning and to national integration./

Jedrse eifav IRV Iuug & Areay A myfd fHar s arar ok Sy (@earse) fewra
Ye-elu ITRT A Ured fopar == arer Sefaw= 81 SWIs (dearse) Uil # Jag ¥ 37,000 fwft
(22,300 TteT) & gt W FRU 81 ugar Acarse Rua 1962 H RIU A TaR Aedrse ST
SATYPT a® yaTiRa fvar mam oT | TARTI Ft & 14 arar Ugar IRy SR ANNG! Iuug
@eaTse) HATST 3MfA® 1 4T =Y 1973 © e fam mar 411 1960 & =16 & Ae |, Juids
YR g% ST, fawpa aR1uTs A 98 9 31 IR foar {6 nfie g wranfore faera &t
WTied o3 § Ipaardt Sefifae yomrelt Wy et frum Jed! 81 aRTHTS ot Ued IR,
1968ﬁWﬁ@ﬂ@ﬂmmﬁﬁﬂﬁg’q(NASCOM)ﬁRmﬂﬁﬂgl 1975-76 ¥ Y=

foraT a1 ITde (AdTse ST calfau TRIUNHe) TP UHau g uresd uivarer 8t ot
uwuﬁmﬁmcﬁwﬂaﬁwugaﬁ%ﬁmmmﬁw%m%ﬁmﬁﬁqwﬁm

TR & foe 3E @1 15 <01 age & agal d ymftor fyuray Rren | guR w0, e
WRA&OT YT B3, FV, TR T W51 94T WWUT SR B YR AT 3R ufvar e
9 T THdT A TNTQI 1 e T |

A national satellite communication group (NASCOM) was established in India

in:/ HIRT ¥ TP IUUT TR HHE (NASCOM) B RITYAT e 9 & &t 75
1. 1966
2. 1967
3.1968

4. 1970

Correct Answer :-

- 1968

11) DIRECTIONS: Read the passage and answer the questions that

follow./ F1d=r: FfRiEd ez 1 HHYd® Tehy SHS 4 48 73 wglawed! w=-i 4 Wt



faweu &1 99q B

Satellite television is television delivered by the means of communication
satellite and received satellite dish and set —top box. Satellite is located
37,000km (22,300miles) above the earth surface. The first satellite signal
was relayed from Europe to the Telstar satellite north America in 1962. The
first domestic North American satellite to carry television was Canada's anik
1 which was launched in 1973. In mid1960’s a noted Indian scientist, Dr.
Vikram sarabhai, began arguing that a nationwide television system could
play a major role in promoting economic and social development. At
sarabhai initiative, a national satellite communication group (NASCOM) was
established in India in 1968. SITE (satellite Instructional Television
Experiment) was a one year pilot project in 1975-76 primarily under taken to
experiment thorough satellite communication to reach rural areas in India
with specially designed programming. SITE’s objectives were to improve
rural primary school education, to provide teacher training, to improve
agricultural, health and hygiene, and nutrition practices and to contribute to
family planning and to national integration./

Jedrse effa TwIvor Iusrg & Aread | myfdf fpar s arar ik Suug (@derse) fexra
Je-2Tu gTeq | ured fopar 5= aran Seifaw 81 SwiE (@earse) Yudt 3t wag d 37,000 fpeit
(22,300 ieT) & gt W FR B 1 ugar Acarge Rua 1962 # TRIU A TaAER AedTSe ST
SMATYPT a6 uaTiRa foFam T uT| AT 3t & 94 arar ugar IRy SR SHive! Iuug
@eATSe) HATST M 1 AT =Y 1973 § e fam war 411 1960 & =16 & Ae |, Guids
yRdtg 3T ST, fasy IR1UTS 3 8 ad &1 3= far {6 snfie a ararfoe faer &t
WATied oA § Ipaardt Sefifa yomelt wga et frum wed! 81 aRTHTS ot Ued IR,
1968ﬁmﬁwmmmﬁwgq(NASCOM)ﬁmﬁﬂil 1975-76 § Y=
fopar T ATEe (AdATse SICHRIIT calfavwd TRIURHT) TP Thasig uresd uf¥aierr ot ot
muﬁmﬁuwﬁw&ﬁwugﬁ%ﬁmmmﬁw%wﬁ%ﬁmﬁﬁuwﬁm
TTTRAT & fore e 6t 718 <0t | arse & wgal § yrdtor faearer fRiam § gur &, Riee
WIRIE0T YeT= $HT, HiV, TR T TS5 9T TIY0T 3Tl & GUR H1 3R ufvar e
T IEH THAT  ARTGH ST e AT

SITE stands for:/ '\‘Hi? (SITE) &1 Gf?f%:

1. Satellite Instructional Television Experiment/ »?lémlsc I AR MYIIESE
2. Serial Instructional Television Experiment/ HIRad IR Caltfdel TeqaiRae
3. Satellite Instructional Television Examination/ mﬁm%ﬁrﬁmwﬁm

4. Satellite Inductive Television Examination/ ?lécﬂsc s'sfo?cq UICSE

Correct Answer :-

« Satellite Instructional Television Experiment/ @lémlsc I aRI MYIIESE

12) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 39@ AR f3d T sgfawadt vzl o w8t
fawey &1 799 1



Satellite television is television delivered by the means of communication
satellite and received satellite dish and set —-top box. Satellite is located
37,000km (22,300miles) above the earth surface. The first satellite signal
was relayed from Europe to the Telstar satellite north America in 1962. The
first domestic North American satellite to carry television was Canada's anik
1 which was launched in 1973. In mid1960’s a noted Indian scientist, Dr.
Vikram sarabhai, began arguing that a nationwide television system could
play a major role in promoting economic and social development. At
sarabhai initiative, a national satellite communication group (NASCOM) was
established in India in 1968. SITE (satellite Instructional Television
Experiment) was a one year pilot project in 1975-76 primarily under taken to
experiment thorough satellite communication to reach rural areas in India
with specially designed programming. SITE’s objectives were to improve
rural primary school education, to provide teacher training, to improve
agricultural, health and hygiene, and nutrition practices and to contribute to
family planning and to national integration./

Jaarge oo TRV IWE & HTead [ 3Myfe far s aren 3k Suwg (dearge) fswra
Ye-21v a9 A U fopar S aren effae 81 Sue (Jearse) Pt &t gas ¥ 37,000 fpet
22,300 i) F gt W fRua 1 ugen Searse Ry 1962 & TRIT A CaeR Addrge NI
e 9@ yTiva far war 3t e &) @ 9 arer ggdr TRy SR et Suug
@arge) FTST 3P 1 U1 Y 1973 ® e forar am 411 1960 & =16 & we |, Ui
YRATY a1 1. faspa IRTUTS A g aob 31 Y%= fovan 1 e T aranfire faer &1
WTed $A # Iyaardt Tefaer yume W YRreT AT &l 81 IRIVTE 9 U5d IR,
1968 § YIRA H TP AP HeaTse SRS T (NASCOM) T RITYHAT &Y TS| 1975-76 B IR
fopar mar wrse @earse SR caifaw TaRTaHe) Te Tehadfy uras ufvarerr &
URY ® URd ¥ Ifior &= 9@ uga- & e Suug 98ivur & v & foe fasiy s u & a8
TR & e 3= &t 15 N | Arge & agai | urdior fyure Rign d Jur &=, Riere
URIEOT UeT= H3AT, FY, TR T W31 9T W7 STl | GUR HAT1 3R ufvar e
T IEHT TP § ARTGH ST e T

SITE’s objectives were to:/ HIs¢ (SITE) & 324 :

1. Improve rural primary school education/ TTHTOT gTdfieh ﬁwﬁ&nﬁﬁwm
2. To provide teacher training/ fR1&/® UfRIE0T IUTS BT

3. To improve agricultural, health and hygiene/ ﬁ ATRY, Wﬁﬁ?ﬂ?

4. All of the above/ Iujad Tt

Correct Answer :-

« All of the above/B'q'?iaﬂ‘le-ﬁ

Topic:- Grad_Child Care and Education

1) Qualitative and Quantitative change are related to:/ Wsﬁ?w
uf¥ad= & qEfi §-

1. Growth Cycle/ dfg 9




2. Energy/ 3ol
3. Development & Growth / fd&™ Td gfg
4. Maturation/ gRgaqdr

Correct Answer :-

« Development & Growth / fd& Td 9fs

2) Mass activity and specific activity are motor activity of / AT

fopard ofik fafre fomamd g 3t foramiteran 3 -

1. Childhood/ STedTa®T

2. Neonate/ Adavlld
3. Infancy/ QRETTRIT

4, Babyhood/ daUATdR

Correct Answer :-

« Neonate/ Aadld

3) Services of ICDS is:/ T&Igpd aTd AP FiT &) Jare T 3:
1. Health/ WdTI=™]

2. Nutrition/ GIvol

3. Welfare/ s cdIur

4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SWRIad gt

4) In India AIDS Control Programme was started at year/ YRa o
usd friEur sriwal @t IREsma GEE R

1. Year 1985/ 94 1985

2. Year 1988/ d§ 1988
3. Year 1992/ 9§ 1992

4. Year 1975/ a¥ 1975

Correct Answer :-

. Year 1985/ 94 1985



5) What is the favorable conditions of creativity:/ m%wm

Wﬁﬁ%

1. Positive Social Attitude/ ¥ TTHTSTS UGl

2. Independent family environment/ - UTRaTe araraRul
3. Social facilitation/ JMHTST® IHdT
4. All of the above/ IWRIad gt

Correct Answer :-

o All of the above/ IWRIFd gt

6) Special instructional material is made by:/ fafRre 3geM It g & grRT
IR F ATl B

1. University Grant commission/ ﬁ'—‘lﬁ'ﬁﬁﬂﬁﬁ&lﬂ?ﬁ START
2. Integrated Education in India/ YRd & Jafdbd &

3. UNICEF/ g%
4. All of the above/ IWRlad g+t

Correct Answer :-
« Integrated Education in India/ YRd H gafed fRuen

7) Identification of mentally retarded children are:/ ﬂmﬂ?mﬁﬂﬁ?ﬁqﬁﬂ'ﬁ

gl &:

1. Intelligence test/ §fg G<I&r

2. Sociometric Technique/ AT bl
3. Behavior Observation/ ®dgR AR1&01

4. All of the above/ SWRIdd g

Correct Answer :-

« All of the above/ IURiad g

8) What is the foundation year of National AIDS Samiti:/ w@umﬂﬁﬁrm
TS $d g3l Y-

1. Year 1999/ 94 1999

2. Year 1988 / 9§ 1988



3. Year 1986 / 9§ 1986

4. Year 1982/ 9% 1982

Correct Answer :-

« Year 1986 / 9 1986

9) What are the factor affecting the process of learning:/ @+ &1 ufssar &1
THIRd A TR da P & 2

1. Interest/ L]
2. Practice/ ¥
3. Health/ W™y

4. All of the above/ IWRIFd gt

Correct Answer :-

o All of the above/ IRIFd gt

10) One ounce formula milk give how much calorie?/ WTHaT gy & ufa i &
Herd frerdt &

1. 18-20 Calories/ 18-20 HaR
2. 20-25 Calories/ 20-25 HaR
3. 19-25 Calories/ 19-25 HAR)

4.16-19 Calories/ 16-19 B!

Correct Answer :-
. 18-20 Calories/ 18-20 FdR}

11) Maturation & Growth cycle are determinants of / W&WTEHT{@
Th ¥ uRe aa’

1. Development/ fomg
2. Growth/ ‘q’@
3. Heredity/ d=IIspH

4. Environment/ dTdrd=ol

Correct Answer :-

« Development/ famr



12) Theory of Regional learning was given by:/ Jt@+ &1 &g R 5o g1
feram mar ur?

1. Kohler/ ®IgeR
2. Pavlov/ ICRE]
3. Lewin/ qfdd

4. Piaget/ frarse

Correct Answer :-

« Lewin/ NIGE]

13) What are the emotions of Neonate:/ FasiTd fRI[ & J7T 1 84 B
1. Anger/ By

2. Fear/ &}

3. Love/ TR

4. Anger, Fear, love/ ﬁﬂ, S, TR

Correct Answer :-

« Anger, Fear, love/ aﬁa, S, TR

14) Genes are important carrier of / Si=g P UYE 98P -
1. Heredity/ d=IIIhH

2. Language/ HIYI

3. Environment/ TgfaRur

4. All of the above/ ItRlad gt

Correct Answer :-

« Heredity/ 9= H

15) Main AIMS of Viklang punarvas Anusandhan Yojana is:/ fa&ai gHarg
SFEUT YIS BT YT &I T 8 -

1. Integrated education/ THfdd e
2. Normal education/ ST fR1&

3. Distance Education/ ECAIRGIREUAI]
4. All of the above/ SWRIe GH



Correct Answer :-
« Integrated education/ qofed e
16) AIMS of Special Education is:/ fa=Iv f1&m & Ie=a 1 g1 8:

1. Economic independence/ i Wad

2. Help in adjustment/ SHIEANH H T8l
3. Change the attitude of society/ THTS & £f¥& v & ufad—
4. All of the above/ IWRIad gt

Correct Answer :-

« All of the above/ IURlad g

17) Percentage of Hemoglobin in newborn is:/ TauTd Yad A feHafa= &1 fora-r
wfar=ra g 3:

1.17-19 Gram/ 17-199H
2. 19-25 Gram/ 19-257H
3.12-17 Gram/ 12-17 9H

4,9-12 Gram/ 9-129H

Correct Answer :-
e 17-19 Gram/ 17-199UMH

18) Genius or Gifted children IQ is / afauTa srae ot gig-afsy

Bt &-
1. 130-140 1Q/130-140 3M5HR]

2.128-136 1Q/128-136 35,
3. 200-202 1Q/200-202 3T5ag,

4. 150-200 1Q/150-200 3MEF]

Correct Answer :-

« 130-1401Q/130-140 &ﬂéﬂ

19) What is the age of informal education:/ &@Wﬁl&ﬂéﬁ'ﬁ GITQW%:

1. 2-6 Years/ 2-6 9§



2.8-12 Years/ 8-12 a4
3.10-16 Years/ 10-16 9%

4.4-10 Years/ 4-10 99

Correct Answer :-

« 2-6 Years/ 2-6 d§

20) What are the conditions necessary for mainstreaming of exceptional

children:/ faf¥re ara®! @ g&1 4RT A Wfire $1 2 smazas uikfRufaar « gidt &
1. Integrated education/ THfdd e
2. Residential school/ STty faere™a

3. Rehabilitation/ gaid
4. Plan of Action/ SIS

Correct Answer :-

« Integrated education/ gafed fRuem

21) Which sentence formation is the last stage of development?/ ared femrof
fIeTa o1 SrRaY SrawT 8-

1. Language Development/ Ty faere
2. Socialization/ HTHISIHIUT
3. Cognitive Development/ IHIH® [dHT

4. None of these/ @ﬁ@fﬁ%ﬂ‘eﬁ

Correct Answer :-

« Language Development/ HTST fa&T

22) What is the working Areas of ICDS:/ T®Id ITd fAHTH T & 1Y & T
ﬁ’cﬂ%:

1. Immunization/ IGRALY|

2. Growth monitoring/ q@IITCFT

3. Supplementary Nutrition/ Wtﬁw
4. All of the above/ IWRIE GHi

Correct Answer :-



« All of the above/ SWRIad gt

23) What is the duration of National AIDS control Organization is ./

TS TEH forimr W it arafy @ g 2 -
1.10 Years/ 10 ¥

2.5 Years/ 599

3. 3 Years/ 394

4. 2 Years/ 2 Ty

Correct Answer :-

e 5 Years/ 594

24) Disease caused by virus are:/ ﬁwmmﬂnw%

1. Fever/ §@R
2. AIDS/ U™
3. CANCER/ &R

4. Under Weight / WW@W

Correct Answer :-

. AIDS/ UgH

25) Factor influencing human development are:/ 19 fIerg & uHTfaa #34 ard
PR -

1. Nutrition/ TS0
2. Family/ URaR

3. Heredity/ d=IspH
4. All of the above/ SRIad It

Correct Answer :-

o All of the above/ IWRIFd gt

26) chromosomes are called sex chromosomes./

PYHIET T UL Peama 8-
1. X Chromosomes/ X HIHTH
2.Y Chromosomes/ Y HIHH



3. XX Chromosomes/ XX SR

4. XY Chromosomes/ XY HIHNH

Correct Answer :-

e« XY Chromosomes/ XY HIHNH

27) Who gave the theory of cognitive development:/ SJTHTH® fda R &
SISTdl S 8

1. Skinner/ PR

2. Throndike/ UTeIsed
3. Kohler/ Tﬁ%ﬂ?

4. Piaget/ oS

Correct Answer :-

« Piaget/ oS

28) Crying & Vocabulary are stages of which development?/ T TG TG YIS
g faera Ft s 82

1. Language Development/ UTST a1
2. Emotional Development/ TAAD fapTg

3. Cognitive Development/ IMTIHS fam™

4. Personality Development/ Sfadd fawmr

Correct Answer :-

« Language Development/ HTST fd&T

29) Period before Birth is related to?/ W%ﬁﬁwmﬁmﬁﬁ%?
1. Prenatal Development/ WWMWW

2. Period of Language Development/ ST fd®™ &1 90y

3. Period of Physical Development/ Xl AR® fap &1 90y

4. None of these/ Eﬂﬁﬁaﬁgﬁ

Correct Answer :-

« Prenatal Development/ WW&I’E{LW EEgRY



30) Motor development in Neonate is related to:/ Wﬁl‘{[ﬁmﬁm
fraa 9wl 3-

1. Reflex Action/ ‘v’l%\_slﬁo_ﬁlﬁ

2. Involuntary Action/ {5 fopamd

3. Differentiation/ fafif®Rur

4, Reflex Action & Involuntary Action/ e fopard 3R 3w fopamd

Correct Answer :-

. Reflex Action & Involuntary Action/ Tgd fohamd 3R 3rifwse foramd

31) For protection of child right policy was made/ 978 3(fU®RI Pt &

eg__ IS g R-

1. Integrated child protection scheme/ TaIdhd dTc TREUT ISl

2. Integrated child development services/ Qor>°lq>c| SINACEAREEIE
3. Integrated child welfare/ Tsbidhd dTd GUR
4. None of these/ 398 ¥ &g gl

Correct Answer :-
« Integrated child protection scheme/ WWWWW

32) Basic principles of special education is:/ fo=iy fRrem %Hﬁ%mwﬁﬁ%

1. Tutoring in functional skills/ fopuTcHe I o1 ufero

2. Emphasis on individualized Instruction/ AfaaiTd &j&%l-—l R dd
3. Emphasis on awakening of the child senses/ dTcid| & TdgA13{l BT SUT HA W I
4. All of the above/ IWRIad Tt

Correct Answer :-

o All of the above/ IWRIFd gt

33) Establishment year of National AIDS Control Organization is:/ I TgH
ford=ror W S I TAT AT -

1. Year 1991/ 94 1991
2. Year 1992/ 1992 9§

3. Year 1996/ 9% 1996



4. Year 1986/ a¥ 1986

Correct Answer :-

« Year 1992/ 1992 T

34) Development is a ./ e w82

1. Qualitative Change/ T[0T URdcH
2. Continuous Process/ fFRAR Ia+ aralt ufdhar
3. Birth till death/ S0 ¥ g d%

4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SURIad Tt

35) CANCELLED

What is the height of neonate child at time of birth?/ S & JHY AqeTd dTdd

Pt TaTs fPast gidl 82
1. 20’5 inch/ 20’554
2.20'3 inch/ 20’354
3.302 inch/ 3024

4.19'8 inch/ 19’8 4

Correct Answer :-
« 20’5 inch/ 20’554

36) Characteristics of cognitive development is: / TIFTH® fAHTT I faward
T 3:

1. Perception/ Tefiemrur
2. Abstraction/ 3TgfddRul
3. Transfer/ 3{=<dkUl

4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SURIad Tt



37) Which is National child welfare scheme?/ $I9 Hl IS T8 HITUT TIST 82
1. United grant commission/ fa=afa=red e smamT
2. NCERT/ U1 fRigm Sy e ud ufRiarn gikeg

3. Integrated child development services/ gaf-ad 919 f[dHT a1 are]
4. None of these/ 398 ¥ PIs 78!

Correct Answer :-

« Integrated child development services/ THad aTd fa®™ Ja1 AreHT

38) After birth Neonate does various physical activities to:/ \Tﬂ%mﬁﬁfﬂ{[
faft= =t fopamd wear @:

1. Digestion/ OTa fohal &1 RS

2. Heat Regulation/ g &1 fdao

3. To develop Immunity power/ JTT-URIYS &HdT [AHRIT BT
4. All of the above/ IuRlad gt

Correct Answer :-

o All of the above/ IWRIFd gt

39) Is XY Chromosome are sex determination?/ &1 XY praraH foii fufzor s34

8?

1. Right/ I8!

2. Wrong/ Tdd

3. Partially Wrong/ 3T Teid

4. None of these/ aﬁ@faﬁéﬁ

Correct Answer :-

« Right/ gt

40) Law of Mendal is related to:/ ﬁvﬁﬁﬁ'ﬂ'ﬂmﬁ'ﬂﬁiﬁﬁ%-

1. Environment/ dTdrdaxul

2. Heredity/ d=IIspH
3. Learning/ IRaAT

4. Exercise/ A



Correct Answer :-

« Heredity/ 9= H

41) Various forms of expression of creativity in childhood is:/ STcATdRIT H

goHTH ST 3t Srfirarfa o1 fafi= weu = @:
1. Dramatic Play/ BICAREEN]

2. Constructive Play/ TS T

3. Humor/ 8T HId

4. All of the above/ SWRIead T

Correct Answer :-

« All of the above/ IWRIFd gt

42) Method of identification of gifted children is:/ uﬁfmmr——raaﬁaﬂua%rﬁ
faftrar «ar gt 8:

1. On Basis of Testing/ TRI8f0T & SR TR

2. On the Basis of teacher observation/ e MR & STYR W
3. On the basis of records/ el & YR TR

4. All of the above/ SWRIdd gt

Correct Answer :-

« All of the above/ IURlad g

43) 10 days Infant is called:/ 10 f&9 ¥ f3] & 7 Hgd 3:
1. Child/ TRig
2. Neonate/ Hﬁﬁlﬁfﬁ?{[

3. Abnormal Child/ 3HTHIY Sl

4. None of these/ 578 J ®Is gl

Correct Answer :-

« Neonate/ Adqlld IQI%!

44) What are the main characteristics of childhood?/ STeaTawdT &1 G&T faiwar

7 gl 82



1. Curiosity/ o
2. Playing/ PEIGE]
3. Reading/ UeHl

4. Talking/ §Td &A1

Correct Answer :-

« Curiosity/ TSI T

45) Theories of language Development is:/ HTYI-fd®r & Rigr< 1 814 8:

1. Maturational Theory/ IRUaad Rigr
2. Learning Theory/ 3iferm g

3. Cognitive Theory/ 43HTd® Rigrd

4. All of the above/ IR G

Correct Answer :-

« All of the above/ IuRlad g



